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Mental Ability
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Yes
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Question Number : 1 Question Id : 59445943122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

CFl,  ,UXA, DGJ, MPS
Options :
1. # JKR
2. ¥ LOR
3. % LOQ
4. % JLN

Question Number : 1 Question Id : 59445943122 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafaRad si&R gaar o g ug 1
CFI, , UXA, DGJ, MPS

Options :

1. ¥ JKR
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2. ¥ LOR
3. % 10O

A

4. % JLN

Question Number : 2 Question Id : 59445943123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.

1. Jaggery
2. Jaguar

3. Jackal
4. Jackpot
5. Jangler

Options :

1. ¥ 34125
2. % 31245
3. % 32145
4. % 12345

Question Number : 2 Question Id : 59445943123 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
U 7T Srel B 39 o1 H FafRUd X o HH & 3 Ysadb 1 H 81 5|

1. Jaggery
2. Jaguar

3. Jackal
4. Jackpot
5. Jangler

Options :

1. % 34125
2. % 31245
3. % 32145
4. ® 12345

Question Number : 3 Question Id : 59445943124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Out of the given options, three are similar in alcertain manner. However, one option is NOT like the other three. Select the option which is different from the rest.

A

Options :

1. ¥ Cabbage

2. ®¥ Guava

3. # Muskmelon
4. % Litchi

Question Number : 3 Question Id : 59445943124 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

few M fawed # § i v Ffda a¥i% I T8 B gTeiiior, T fded 3= fiF &t ke e B 1 I fadhed o7 907 Y off 30§ SaT B
Options :

1. ¢ Sa T

2. ® Uxq

3. ® R

4. % A<t

Question Number : 4 Question Id : 59445943125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is different from the rest.
Options :

1. % Pen : Pencil

2. ® Fork : Chopstick

3. % Scooty : Bike

4. ¥ Bread : Butter

Question Number : 4 Question Id : 59445943125 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e famedl & § oiF Ues fRfd aics & 90M | STy, T fddhed S0 19 &1 oRe 7ol ¢ | 39 [Aded &1 99 B Sl 30 & AT g |
Options :

1. % Had : IR

2. % HicT: AldRe®H
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3. % Wl dI8dh

4 ¢ IS . ARG

A

Question Number : 5 Question Id : 59445943126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

India : Peacock :: Russia : ?
Options :

1. % Ostrich

2. ¥ Eagle

3. % Emu

4. # Pigeon

Question Number : 5 Question Id : 59445943126 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhe &1 T &3 Sl JRR Ug § I TR I aifdd g 59 IR ¥ gOR1 Ue Ugd Ug ¥ Iefid g1

YR : AR = &9 : ?
Options :

1. % g

2. ¥ WA

3. % Q4

4. % FER

Question Number : 6 Question Id : 59445943127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Biryani : Rice :: ?
Options :

1. #* Wood : Furniture
2. # Milk : Cheese
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3. ¥ Paper : Tree
4. ¥ Mango : Pickle

A

Question Number : 6 Question Id : 59445943127 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT T HY ol g | & 778 oiiel ¥ JHH ISR I Y&fdd §
foeart - gmed - 2

Options :

1. % Fhel: AR
2. % gY Tl

3. ¢ B US

4, % 3H : AR

Question Number : 7 Question Id : 59445943128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, TELEGRAPH is coded as ELETGHPAR, then what is the code for NOMINAL?
Options :

1. ¥ MONILAN

2. ¥ MONLIAN

3. ¥ MONALIN

4. ¥ NOMALIN

Question Number : 7 Question Id : 59445943128 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfSd Fls YT &, TELEGRAPH &1 ELETGHPAR & &0 § $ifgd fa1 71 8, @ NOMINAL & ot &is 1 82
Options :

1. ¥ MONILAN

2. % MONLIAN

3. % MONALIN

4. % NOMALIN
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Question Number : 8 Question Id : 59445943129 Question Type : MCQ Option Shuffling : Yes Is Question [Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if washing machine is called air conditioner, air conditioner is called room heater, room heater is called mobile, mobile is called tube
light, and tube light is called geyser, then what is used to send a message?

Options :

1. # Heater

2. ¥ Tube light
3. ¥ Mobile

4. # Geyser

Question Number : 8 Question Id : 59445943129 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T i3 Hre yo H, 3fe Yars 7= & arargm e &8l 71 7, G &I HHR BT g1eX Hal 1§, HHL & gIex I AIad &gl T 8, Aiasd &I
TS TISC HTT 1 5, AR F AISC DI SN BT 1 5, A Y& Hof- o [o7g fbeiepl SUART o Sirett 52

Options :

1. % gicR

2. ¥ I dIgC
3. % Hiared
4. % UMY

Question Number : 9 Question Id : 59445943130 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If A @ B means 'A is the mother of B';

'A $ B' means 'A is the husband of B';

'A # B' means 'A is the sister of B';

'A * B' means 'A is the son of B'.

Then which of the following indicates that M is the daughter of O?

Options :

.L¥*M@G#H*0O
2. M@G*H#O
3.9M#G*HSO
4. FM#G@H*O
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Question Number : 9 Question Id : 59445943130 Question Type : MCQ Option Shuffling : Yes Is Question [Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
afe A @ B &1 3§ 'A,B I AT R
'ASB BT NIT A BHUCE,

'A#B BTG 'A, B DI IGT 8}
'A*B P13 E'A, BHI AT
a‘rﬁgﬁﬂ@aﬁﬁﬁqgﬁﬁm%ﬁ?M 0BT B
Options :

.¥*M@G#H*O

2.8 M@G*H#O

3.3 9M#G*HSO

4. # M#G@H*O

Question Number : 10 Question Id : 59445943131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Seven friends Ashish, Babita, Chandan, Dixit, Elizabeth, Faisal and Gagan sit on the top of a plateau facing east.

1. Chandan is on the immediate right of Dixit.

2. Babita is at one of the extreme ends and Elizabeth is her neighbour.
3. Gagan is between Elizabeth and Faizal.

4. Dixit is sitting third from the south end.

Which of the following pairs of people sit at the extreme ends?
Options :

1. ¥ Ashish and Babita

2. % Ashish and Elizabeth

3. # Chandan and Babita

4. % Faisal and Babita

Question Number : 10 Question Id : 59445943131 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ara ot ity it ae, e, uferemay, Haa 3R T qd &t 3R HE $HRb Uh USR &1 cld R §8d 7 |

1. S e & dib B
2. SEIdT fhd U oRA BR R g 3R TfTeey 39 a9 A 3
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3. TR TfRTSIaY iR hoidd & &g H g |
4. A3rd <fEo 3R § TR WA R Ia18|

A

frafefad § 4 o9 @ S TRAT SR R 38T 22
Options :

1. ¢ 3MRNY 3R gfear

2. % 3mefiv 3R Tfersey

3. % gea 3R afear

4. % o 3R Sfadr

Question Number : 11 Question Id : 59445943132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In this question, three statements have been given followed by two conclusions numbered I and II. Assuming that all information in the statement is true, analyse
the two conclusions together and determine whether any of them logically and definitely follow(s) from the information given in the statement.

Statement I: All tube lights are fans.
Statement II: All fans are bulbs.
Statement III: All bulbs are clocks.

Conclusion: I) All tube lights are clocks.
IT) Some clocks are fans.

Options :

1. # Only I follows

2. % Only II follows

3. % Both I and II follows
4. % Neither I nor II follows

Question Number : 11 Question Id : 59445943132 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S Uy ¥, F By AU U ¢ e a1 &1 Fseps 1 8iR 11 faU U § 1 98 91d U fob o & 9t SR 9 6, &l ol 7 T 1 fa=elo &% 8iR
feffed &< o 7 Fu= 3 & 718 TR B I B1s off difdhe &0 F IR fAfdd 0§ srmRu s |

HYT 1 gt g dge TR |
FHYF 11 IH 7Y eI B 1
HY 111: i Tow ufSTi |
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fsp: I)Hqﬁiﬂﬁwm%
1) $S ST T §

A

Options :

1. % Had [ IR0 BT 8

2. % FHad 11 3IER0T HRl §

3. 1 3R 11 GHT SFER0 $Rd §
4. % 1 3R A G I TR0 BT §

Question Number : 12 Question Id : 59445943133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit.

Statement: Dixit's advice to Farhan-"Go to Kolkata via Jharkhand-the shortest route".
Assumptions:

I. Farhan wishes to go to Kolkata.
II. Dixit gives advice to everyone.

Options :

1. % Only I is implicit

2. ® Only II is implicit

3. # Both I and II are implicit
4. % None is implicit

Question Number : 12 Question Id : 59445943133 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Uy, HY fear T | o 91¢ 3 yRUMY 1 3R 11 <) 775 § | 3MTUh! d T & fob i A yRon g 1

;& B Fag BREH B - " IRGS Tld g bIereb Il STT3fl-HaH BleT Il |
IR

1. ThRETH DIcDIdl ST =gl g |
1. diférd I+t ) gerg T g
Options :

1. Fad [ Afed g

2. % Haanffkasg
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3. % 13RuGH ARRa g
4 % P ARITR B

A

Question Number : 13 Question Id : 59445943134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number from the series:

48,96,24, 12
Options :

1. % 16

2. % 18

3.9 48

4. % 28

Question Number : 13 Question Id : 59445943134 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e o | TRAT 1A P
48,96,24, .12

Options :

1. % 16

2. % 18

3.9 48

4. % 28

Question Number : 14 Question Id : 59445943135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

54:729 ::24:?
Options :
1. ¥ 144
2. % 324
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3. ® 256
4. % 576

A

Question Number : 14 Question Id : 59445943135 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fadhed &7 997 H off AR U I I UHR I Tafdd § o TR ¥ g1 Ug g U 3§ Yefdd g

54:729 ::24:7
Options :
1.4 144
2. % 324
3. % 256
4. % 576

Question Number : 15 Question Id : 59445943136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the diagrams best shows the relationship:

Uncle, Grandfather, Male
Options :

1. ®

2.
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e,

. O

4. %

Question Number : 15 Question Id : 59445943136 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T NG Y BT T 33T T 82

I, qlal, §ou
Options :

1. %

2.
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Question Number : 16 Question Id : 59445943137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the diagrams best shows the relationship:

Laptops, Mobiles, Electronics
Options :

®

2.¥
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Question Number : 16 Question Id : 59445943137 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI T 3T GY B Jad 397 el 82

Options :

1. ®

2.
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Question Number : 17 Question Id : 59445943138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figures completes the question figure?
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Question Number : 17 Question Id : 59445943138 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e o @ 1t IR 3 U 3Mpid & IR Al 82

N

?

X
Options :

1. ®

2. %

3. %

DD

4.v

Question Number : 18 Question Id : 59445943139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

Which of the following answer figures will continue the same series as established by the five question figures?

LI 0000} SO0 AT O

. A B Cc D E
Options :

1. ®

2.
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Question Number : 18 Question Id : 59445943139 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied & 9 &F It IR M id Ui Uy SHfaal gRT RN §Td HI SRT @2

I 0000 SOOI QT O

A B c D E
Options :

2.
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Question Number : 19 Question Id : 59445943140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures cannot be formed on folding the given cube in the question?

Options :
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Question Number : 19 Question Id : 59445943140 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafead & § - siefa vy § 3T T8 o9 &) /g W T8} o9 Il 82
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Question Number : 20 Question Id : 59445943141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

A

Vertical
Correct Marks : 1 Wrong Marks : 0.25
Find the water image of the following figure.

Options :
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A

4.

Question Number : 20 Question Id : 59445943141 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied siefa & ofd &fd I1d B

Options :

1. %
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Group Id :

Group Maximum Duration :
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Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :
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594459958
0

0

No
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0
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General Awareness

Section Id :

Section Number :

Section type :
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Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :

5944591683
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Online
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20
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Sub-Section Id : 5944591959
Question Shuffling Allowed : Yes

A

Question Number : 21 Question Id : 59445943142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hattari dance is one of the most famous folk dances in .
Options :

1. # Tamil Nadu

2. ¥ Karnataka

3. # Kerala

4. # Maharashtra

Question Number : 21 Question Id : 59445943142 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

BRI T EEERR RS IR R
Options :

1. % qffQ ATg

2. ¥ FACH

3. % PR

4. % HERTY

Question Number : 22 Question Id : 59445943143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following monuments was built by Maharaja Narinder Singh?
Options :

1. % Sheesh Mahal in Punjab

2. # Golconda Fort in Andhra Pradesh

3. ® Konark Temple in Odisha

4. # Lodhi Fort in Punjab

Question Number : 22 Question Id : 59445943143 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25

afafad °§ S99 TIR® HeRIST ARy Rig gRT Sarm T 41

A

Options :

1. ¢ 2 HE S, Golld

2. % T IUST fbetl, 3fiy Ue=
3. % DI HieR, SfifSan

4. % et et UoTre

Question Number : 23 Question Id : 59445943144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following statements is incorrect in context to announcements made in Budget 2021?
Options :

1. # Custom Duty on copper scrap reduced from 5% to 2.5%.

2. % Custom Duty on solar lanterns increased from 5% to 10%.

3. ® Custom Duty on solar invertors increased from 5% to 20%.

4. # Custom Duty on raw silk increased from 10% to 15%.

Question Number : 23 Question Id : 59445943144 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad § @ o 91 By Foie 2021 § o1 75 GIvonait & JeH J 1ed 82
Options :

1. % dnd YE} AT IR THI-S[eb 5% W UTTHR 2.5% (BT T 5 |

2. ¢ IR FAere R 1Yo 5% J TGIHR 10% a1 T gl

3. % TR AR W I 5% o FTH 20% fbdr a1 g |

4. % Fod W TR T Y 10% J TGIHR 15% (a1 T B |

Question Number : 24 Question Id : 59445943145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mobile Money Identifier is a digit code issued by banks to their customers.
Options :

1. ¥ seven

2. % eight


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Addai2yy7

3. % nine
4. % ten

A

Google Play

Question Number : 24 Question Id : 59445943145 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 71 3MSSfEHRR bl gRT 304 UTgeh! ol SR fhar mar B IS B
Options :

1. 9Id

2. % 31&

3. %

4. %

Question Number : 25 Question Id : 59445943146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The regular bacteria or eubacteria belongs to which of the following kingdoms?
Options :

1. ¥ Monera

2. % Protista

3. # Fungi

4. # Plantae

Question Number : 25 Question Id : 59445943146 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafira Shtaro) a1 sgaadiar FafaRed 3 @ fora ora 3 defia 82
Options :

1. ¢ HRT

2. % USiig

3. % Whq

4. % UGy

Question Number : 26 Question Id : 59445943147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
law states that the rates of diffugion of gases are inversely proportional to the square root of their d¢nsities under similar conditions of temperature

A

and pressure.
Options :

1. ® Charles'

2. ¥ Graham's
3. # Pascal's

4. ® Stefan's

Question Number : 26 Question Id : 59445943147 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
&1 foH Bedl i aruHH oIk are & g9 uRfRUfYa! 8 A 3 fawRur 31 ¥ 379 U@ $ a7 & gepHrurd gl 21
Options :
1. % e
2. ¥ qigH
3. ® QR
4. % WpA

Question Number : 27 Question Id : 59445943148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following soils contributes the largest share of agricultural wealth?
Options :

1. # Laterite

2. % Red

3. # Black

4. ¥ Alluvial

Question Number : 27 Question Id : 59445943148 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofofad & 3 o 9 ge1 $iY Juer & Ja9 53 o & ahrer <t 32

Options :

1. % dsC
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2. % QAT
3 % PHal

A

Google Play

4. ¥ JdIG

Question Number : 28 Question Id : 59445943149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cuttack is situated on the bank of which of the following rivers?
Options :

1. ¥ Mahanadi

2. # Ganga

3. % Kaveri

4. # Gomti

Question Number : 28 Question Id : 59445943149 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

P HafRad & I fFg 7d & de R Ryd g2
Options :

1. ¢ TEH

2. % TN

3. % PHrad

4. % Tl

Question Number : 29 Question Id : 59445943150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following rulers adopted the title of Mahendraditya?
Options :

1. # Chandragupta — I

2. ¥ Kumaragupta — |

3. ® Samudragupta

4. % Skandagupta

Question Number : 29 Question Id : 59445943150 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

fofafed § 9 foT Iae A Ag<licd P Uy 4R & o2
Options :

1. % T[T - 1

2. GHRTE - |

3. % qHW

4. % IHI

Question Number : 30 Question Id : 59445943151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Battle of Talikota fought?
Options :

1. # 1576

2. % 1611

3. ¥ 1565

4. % 1582

Question Number : 30 Question Id : 59445943151 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
dTfeiehIc 1 g Hd ST 7T UT?
Options :

1. # 1576

2. % 1611

3. ¥ 1565

4. % 1582

Question Number : 31 Question Id : 59445943152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following was the youngest Governor General of India?
Options :

1. % Lord Dalhousie
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2. # Lord Hastings
3. # Lord Canning

A

4. % Lord Wellesley

Question Number : 31 Question Id : 59445943152 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafeied & @ S YR &7 T gaT HeRTSTUTd 41?2
Options :

1. ¥ TS Sarsl

2. % AIS g™

3. % QIS i

4. % QIS Jarel

Question Number : 32 Question Id : 59445943153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following won the Oscars 2021 for 'Animated Feature Film'?
Options :

1. ¥ Soul

2. % Onward

3. ® Over the Moon

4. ¥ Wolfwalkers

Question Number : 32 Question Id : 59445943153 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed & @ forg Tacs wier fihet & g eifeny 2021 Sitar
Options :

1. ¢ 9id

2. % 3fdS

3. % MR T A

4. % BBy
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Question Number : 33 Question Id : 59445943154 Question Type : MCQ Option Shuffling : Yes Is Questionn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following pairs of authors and books is incorrect?
Options :

1. ¥ A Thousand Splendid Suns - Khaled Hosseini

2. # The Ibis Trilogy - Amitav Ghosh

3. # The Diary of a Young Girl - Anne Frank

4. % My Favourite Nature Stories - Salman Rushdie

Question Number : 33 Question Id : 59445943154 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed & 9 dEe! SR gws! ot IF A Sl Ted o7
Options :

1. % TGOS WSS T - WG gaT

2. % g 3TSfa fearoll - Sy gy

3. % TSI S 31 AT - Ut 3

4. T HAIRE R TRIl- AT I=al

Question Number : 34 Question Id : 59445943155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in May 2021, the first private astronaut mission, known as the mission, will be launched from NASA’s Kennedy Space Center in Florida.
Options :

1. ¥ AX-1

2. % BX-1

3. % CX-1

4. ® DX-1

Question Number : 34 Question Id : 59445943155 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g 2021 H B T3 GIVOT SIAR, Ug ol e firem, o[y TR & 19 9 ST S &, TRNRaST & AR & dhia! W Yex ¥ yafta faar
SITaT |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Addai2yy7

Options :
1. ¥ AX-1

A

2. % BX-1
3. % CX-1
4. % DX-1

Question Number : 35 Question Id : 59445943156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states launched a dedicated COVID-19 '"Mukhyamantri Sewa Sanklap Helpline 1100' in May 2021?
Options :

1. # Andhra Pradesh

2. ¥ Himachal Pradesh

3. # Odisha

4. ¥ Maharashtra

Question Number : 35 Question Id : 59445943156 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied o 9 forg I 3 18 2021 H DifdS-19 TAMUT TRH Ga1 Gahed gedars 1100 = D12
Options :

1. % 3ty TR

2.  fEHEId U

3. % affe=m

4. % TAERTY

Question Number : 36 Question Id : 59445943157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
has launched 'Sanjeevani' to connect COVID-19 patients with potential plasma donors in May 2021.

Options :

1. # Flipkart
2. % Amazon
3. ¥ Snapdeal
4. % Myntra
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A

Question Number : 36 Question Id : 59445943157 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Google Play

Vertical
Correct Marks : 1 Wrong Marks : 0.25

S 2021 T YU WA Srarshi & 1y Hifas-19 A 1 S & e ot df<r a1 g |
Options :
1. % foausmre
2. % THNIA
3. ¢ QU
4. % {1

Question Number : 37 Question Id : 59445943158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of 'Joint Sitting of two houses of Parliament' in the Indian Constitution is borrowed from the constitution of
Options :

1. % Canada

2. % United States of America

3. ¥ Australia

4. ® France

Question Number : 37 Question Id : 59445943158 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RTT Gfae™ § e & gl Gadl &1 Ggad 9o’ BI [aRIwdT & g™ I IYR & 1S g
Options :

1. ® DArST

2. % g Iy 3ARBT

3.« 3fIRefern

4. % 1Y

Question Number : 38 Question Id : 59445943159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which among the following amendments of the Indian Constitution led to formation of Nagaland with special status under Article 371A?
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Options :
1. % 13th

A

Google Play

2. % 20th
3. ¥ 32nd
4. % 7Tth

Question Number : 38 Question Id : 59445943159 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Afau™ & Fafied & @ ford W= & SR w6 371A & 08d [9R1Y ot & 1Y ARTS BT T3 gofm?
Options :

1. ¥ 134

2. % 20d

3. % 324

4. % 7d

Question Number : 39 Question Id : 59445943160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following teams continued to hold its top spot on the ICC Test Team Rankings, which were released by the ICC on May 13, 20217
Options :

1. ¥ India

2. % New Zealand

3. # England

4. ® Australia

Question Number : 39 Question Id : 59445943160 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefead & @ &F I & 1cc e dn 3T H 2t A R & 88§, SR 1cC §RT 13 13, 2021 &1 SIRY fan mar ur

Options :

1. ¥ YRd

2. % ollds
3. % U8
4. % 3o
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Vertical

Correct Marks : 1 Wrong Marks : 0.25
The All India Chess Federation has launched the

Options :

1. # Lose Covid

2. % Checkmate Covid
3. # Gambit Covid

4. # Check Covid

3161 Question Type : MCQ Option Shuffling : Yes Is Questio

GET iT ON

Google Play

A

tion

Initiative to help the chess community affected by the pandemic in May 2021.

Question Number : 40 Question Id : 59445943161 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T fSaT 9 e = T% 2021 H HETHRT § THIGT XIa¥s TG &1 HGG o g

Options :

1. % IS Pilds
2. ¢ AHUC DIdS
3. % fige Pifds
4. % b Hilde

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Arithmetic Ability

3
594459959
0

0

No

No

0

20

No

Arithmetic Ability

Uge 3= b1 g
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Section Id :
Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

5944591684
1

Online
Mandatory
20

20

20

Yes

1
5944591960
Yes

A

GET iT ON

Google Play

Question Number : 41 Question Id : 59445943162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

What is the other number if the HCF of a pair of numbers is 1 and the LCM is 20, where one number is 47

Options :
1.¥5
2. % 4
3.%6
4. % 2

Question Number : 41 Question Id : 59445943162 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

IR} e AT © afe G B Sl BT AT YHUGd | § STR THTH JHIYGD 20 B, S8l Ub TS 4 87

Options :
1.¥5
2. % 4
3.%6
4. % 2

Question Number : 42 Question Id : 59445943163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

The ratio of two whole numbers is 7 : 9 out of which one is 900. What is the LCM of the given two numbers?
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Options :
1. % 100

A

2. % 6300
3. %700
4. % 900

Question Number : 42 Question Id : 59445943163 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 quf TRersit &7 3UTd 7 : 9 8 FoRs I T 900 81 1 1S & Teaft o1 AHH JHIIad S T 82
Options :

1. ¥ 100

2. ¥ 6300

3. % 700

4. % 900

Question Number : 43 Question Id : 59445943164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average height of 12 students increases by 2 inches when 2 students leave this group. If the average height of these two students is one-third of the average
height of the original 12, the average height, in inches, of the remaining students is

Options :

1. 17 inch
2. % 15inch
3. # 13inch
4. % 19 inch

Question Number : 43 Question Id : 59445943164 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 faerfial @t aiird ders 2 9 dadt & o 2 faenl 50 Tg o Bl 3 81 ufe 37 3 oril @1 3igd e gl 12 Bt Sid TS ol U e 8, df AW
S B 3N ofeE, S, &l

Options :
1.¥173d
2. % 1589
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3. % 1339
4 % 1939

A

Question Number : 44 Question Id : 59445943165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student has an exemplary skill using which he constantly scores 79 in every exam. He does so in the first exam. In the same exam another student scores 60. If
in the next exam the second wants to get ahead of the first student in total across the two exams, at least how much more than the first student should the second
person score in the second exam?

Options :
1.9 20
2. % 21
3. % 100
4. % 18

Question Number : 44 Question Id : 59445943165 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP B A SIHR0NT SR § o IuaNT § a8 U UR1el H TR 79 3ich T HRl ¢ | 98 Tgell Iien B U1 &l 8 | I uteq § U 3R B 60
3feh Ut &l § | IS STel Tte & geR1 13 o udtensit § o firares: ugd 3 ¥ 31 Fdser argdr 8, ) g¥R aafad ! gusl udlen H ugd 81 4
IAqY fban 3ifde sids U - A1few?

Options :
1. % 20
2. % 21
3. %100
4. % 18

Question Number : 45 Question Id : 59445943166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person had enough money to buy 50 pens or 60 notebooks. If the price of pens increases such that the person can buy only 40 pens and he buys 20 pens, how
many notebooks can the person buy at the old price?

Options :
1. % 30
2. %25
3. % 35
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4. % 40

A

Question Number : 45 Question Id : 59445943166 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS G & U 60 HEAH! T 60 Aegd TIe- o o1 Tt o 7| Al HaH! BT Yo 59 TPR Sgdl & b i dad 40 HAH WRIG Thdl § 3R T8 20
HAH TRIGdT &, Al e R Hed W fd-! Aegd Wi Jahdl 82

Options :

1. 30

2. % 25

3. % 35

4. % 40

Question Number : 46 Question Id : 59445943167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost of wheat to a trader is Rs. 100 per kg. If the trader wants to earn a 30% profit (on his sales price) by selling wheat at cost price, how much less (in gm)
should the trader supply for every kg he that he sells?

Options :

1. % 300 gm
2. % 400 gm
3. % 500 gm
4. % 250 gm

Question Number : 46 Question Id : 59445943167 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS TR &1 g B! AT U kg 100 FUT g | AfS AU g BT HT Yo WR FTBR 30% TTH (3 36T Hed W) 31foTd H-1 918 8, o TR &l 3o
GRT I S aTdl YA kg & 1T fba & (gm H) Smgfd H-it =nfgw

Options :

1. ¥ 300 gm

2. % 400 gm

3. % 500 gm

4. % 250 gm
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Question Number : 47 Question Id : 59445943168 Question Type : MCQ Option Shuffling : Yes Is Questionn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the cost of a product is Rs 500 and the seller marks the product at Rs 800 but gives a 10% discount on the same, what is the profit percent to the seller?
Options :
1. ¥ 44%
2. % 60%
3. % 34%
4. % 30%

Question Number : 47 Question Id : 59445943168 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁ%mﬁwsoow%sﬁ?ﬁ%mwsoom&mm%éﬁﬂww 10% 1 BC &aT g, <1 fashdl I e arer ary ufa=rd &
0

Options :
1. ¥ 44%
2. % 60%
3. % 34%
4. % 30%

Question Number : 48 Question Id : 59445943169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Solution A has 20% water and Solution B has 60% water. Both are mixed in a certain proportion to get a solution which has 50% water. What is this ratio of
solution B to A in the final solution?

Options :
1. % 13
2.9 3:1
3. % 41
4. % 1:4

Question Number : 48 Question Id : 59445943169 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 A T 20% U 8 3R 91 B H 60% T 81 aIF1 &1 Tes A srgora & fifda fvan sran 8 arfes wes T 9ia v 81 e ford 502 uri 811 sifaw o
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T HId B T A BT UG ST 132

Options :

A

1. % 13
2.9 31
3. % 41
4. % 1:4

Question Number : 49 Question Id : 59445943170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 3 consecutive numbers are in the ratio 1:2:3, what is the sum of these numbers?
Options :

1. % 12

2. % 18

3.6

4. % 24

Question Number : 49 Question Id : 59445943170 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 3 HHNTT WA 1:2:3 P SIUTT A €, O 37 TRSAT3T BT TN T 82
Options :

1. % 12

2. % 18

3.6

4. % 24

Question Number : 50 Question Id : 59445943171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the difference in the amount of interest earned by a person who invests Rs 5000 for two years under two alternate schemes. In scheme 1, he earns 15%
interest on simple interest basis. In scheme 2 he earns 14% interest under compound interest.

Options :
1. % Rs 10
2.% Rs 2
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3. % Rs5
4. % Rs 8

Question Number : 50 Question Id : 59445943171 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l it AoTait & dgd &l 9N & foru afad gRT 3ifofd sar & R H fpam 3iaR 8 S 5000 SUT 9 1 €1 TS 1 H, 98 JIURUI TSl b YR
TR 15% STl SIS T g | Ao 2 T 98 Tehdig STl & ded 14% STl SHfoid g |

Options :

1. ® 10307

2.+ 23UT

3. % 530T

4, % go0U

Question Number : 51 Question Id : 59445943172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A person invested Rs 10,000 in a bank deposit scheme for 1.5 years. The rate of interest is 20% per annum compounded semi annually. What is the amount of
money that this individual would get at the end of 1.5 years?

Options :

1. ¥ Rs 13310
2. % Rs 14400
3. % Rs 13210
4. % Rs 13000

Question Number : 51 Question Id : 59445943172 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U AT 7 1.5 T8 & [o1T Scb STHT TS H 10,000 TUT T T {5011 TS Bt &R 20% Tl au g o 3ref.arfiies o I a8 1.5 a8 & id H 39
e &1 faramt TR forahte

Options :

1.+ 13310 ®0UQ
2. % 14400 %U¢
3. % 1321020
4. % 13000 >UQ
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Question Number : 52 Question Id : 59445943173 Question Type : MCQ Option Shuffling : Yes Is Questionn Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

Aman and Akash start travelling from Delhi to Kolkata which is 1500 km away from each other. Aman travels at 50 kmph and Akash travels at 100 kmph. Akash
reaches Kolkata and then starts his journey back to Delhi and meets Aman on his way back. How far (in km) from Kolkata did they meet?

Options :

1. % 500 km

2. % 1000 km
3. % 750 km

4. % 900 km

Question Number : 52 Question Id : 59445943173 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SE 3R HPTR el § PICHIAN BT A1 L& HYA & S T G 1500 km QX &1 S 50 kmph BT T 3 I T € SR MBI 100 kmph P17 &

%W%I STHTRT HIADBIAT UG & 3R feeeht P oy aToy AT YRE BT § SR A o JHY 3 ¥ I 81 3 Siaral ¥ fhd=it @ (km H)
R

Options :

1. ¢ 500 km

2. % 1000 km

3. % 750 km

4. % 900 km

Question Number : 53 Question Id : 59445943174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If a car covers 600 meters in 5 minutes, what is the speed of the car in m/sec?
Options :

1. % 120 m/sec

2. ¥ 2 m/sec

3. % 40 m/sec

4. % 4 m/sec

Question Number : 53 Question Id : 59445943174 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25

qﬁWWSﬁlﬂfﬁ600%3ﬁ@ﬂﬁ$ﬁ‘ﬁ%?‘hwaﬁﬂﬁm/secﬁwg?

A

Options :

1. % 120 m/sec
2.9 2 m/sec
3. % 40 m/sec
4. % 4 m/sec

Question Number : 54 Question Id : 59445943175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes are used to fill a tank. If one pipe can fill the tank at a speed of 1/5 of the tank in an hour and the other can fill the tank in 20 hours when working
alone, in what time (in hours) will the two pipes working together fill the tank?

Options :

1. ® 5hours
2. ¥ 4 hours
3. % 10 hours
4. ® 20 hours

Question Number : 54 Question Id : 59445943175 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS bl Bl HRA & fo1T < uTg Ul T Ui foran 7T § | Tfe Ueh UIgy Uah ¢ B Sl o 1/5 1 71T A bt Dl 4R Jhall § MR GURT (bl T b 20 °S
A Bl Bl WR Fobdl 8, Ol a1 UIS Y fdieR debl &l fobe- gHa | (gie) =) #RA2 2

Options :

1. % 5%¢
2.¥4%C
3. % 10%C
4. % 20€c

Question Number : 55 Question Id : 59445943176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
If one worker can do a work in 100 days and 2 workers are added every day, in 5 days what part of the work would have been done?
Options :
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1. % 10%
2. % 15%

A

Google Play

3. % 20%
4. ¥ 25%

Question Number : 55 Question Id : 59445943176 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS T RISl Tb B DI 100 el B R IR ThT § 3R 8 fa 2 FRidwdl Sils ord 7, o 5 el § B 1 fovam fow o1 81 mam ghme
Options :

1. % 10%

2. % 15%

3. % 20%

4. 25%

Question Number : 56 Question Id : 59445943177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The diameter of a cone is 42 cm. The height of the cone is 2 times the radius. What is the volume of the cone?
Options :

1. ¥ 19404 cu cm

2. % 1848 cucm

3. % 3696 cu cm

4. % 462 cucm

Question Number : 56 Question Id : 59445943177 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP UG BT A 42 em 8| VP B SHls AT &1 2 TAT ] | AP BT M o1 82
Options :

1. % 19404 cu cm

2. % 1848 cucm

3. % 3696 cu cm

4. % 462 cucm
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Question Number : 57 Question Id : 59445943178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

GET iT ON

Google Play

A

Correct Marks : 1 Wrong Marks :

What is the absolute difference, in sq. cm, between the curved surface area of a cone and its total surface area if the radius is 7 cm and the height is 50 cm?

Options :

1.4 154 sq. cm
2. % 75q.cm
3. % 50sq.cm
4. % 49 sq. cm

0.25

Question Number : 57 Question Id : 59445943178 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

T P & ah YEII & 3R SUS $ol g &% d & did, sq. om,H URH R &1 8, TS 17 em § 3R AT 50 em 82

Options :

1.4 154 sq. cm
2. % 75q.cm
3. % 50sq.cm
4. % 49 sq. cm

Question Number : 58 Question Id : 59445943179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following table shows the imports of each city. How many cities have seen an increase in imports in 2 consecutive years?

Year
i 2017 2018 2019
London 100 110 120
Tokyo 100 120 110
New York 70 90 80
Sydney 20 90 100
Singapore 120 120 110
Options :
1. %1

2.9¥2
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3.% 4
4. % 3

A
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Question Number : 58 Question Id : 59445943179 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad aferesT e Wer & HraTd & gxIfd 81 fardw 26t 3 2 FHmTa ant # omard o gfg St &2

e —

2017 2018 2019

[ 100 110 120
eI 100 120 110
i 70 90 80
=it 80 90 100
R 120 120 110

Options :
1. %1
2.92
3.% 4
4. %3

Question Number : 59 Question Id : 59445943180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following graph shows the distribution of population in a city based on age group. Which age group has seen a continuous decrease in population over the 2

years?

2018 = 2D19 = 203D

Papulation
«% § 34
E
L

g
—_—
2
____F
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Options :
1. # 0-18

2. % 19-30
3. % 31-60
4. % 60+

Question Number : 59 Question Id : 59445943180 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiRad 7T 3Ty Tgg & YR TR Teh R H SHEReAT & faa=ur o) a2ifar 8| ford 3mg i 3 2 9o & S o fARer oot et 32

HI0LE W 2019 @ 2020

tb:ﬂ
angp F169

1800
100 103 4400
1200 .

po—
- 5 8B B B

o-1n 1%-30 3-60 1]

Options :
1. % 0-18
2. %1930
3. ¥ 31-60
4. ® 60+

Question Number : 60 Question Id : 59445943181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many students have seen an increase of 10% in 2018 and 20% in 2019, in their marks?
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Options :
1.¥1
2. %2
3.% 90
4. % 3

A
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Question Number : 60 Question Id : 59445943181 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

foram BT U= 3T H, 2018 T 10% 3R 2019 F 20% B Ifg TN &2

= 2017 = 2018 = 2019

300

250

200

§ 150

100

50

1]

AT aftm HrEH CL] g
= E]

Options :
1.¥1
2. %2
3.% 0

4. % 3
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Question Number : 61 Question Id : 59445943182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

Having descended the hill at a trot, he no longer/ saw neither our own or the enemy's fires but/ heard the shouting of the French more loudly and distinctly.
Options :

1. ¥ Having descended the hill at a trot, he no longer

2. ¥ saw neither our own or the enemy's fires but

3. # heard the shouting of the French more loudly and distinctly.
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4. ¥ No Error

A

Question Number : 61 Question Id : 59445943182 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

Having descended the hill at a trot, he no longer/ saw neither our own or the enemy's fires but/ heard the shouting of the French more loudly and distinctly.
Options :

1. # Having descended the hill at a trot, he no longer

2. ¥ saw neither our own or the enemy's fires but

3. # heard the shouting of the French more loudly and distinctly.

4. # No Error

Question Number : 62 Question Id : 59445943183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

I guessed vaguely from my mother's signs and from the/ hurrying to and fro in the house that something unusual were about to happen,/ so I went to the door and
waited on the steps.

Options :

1. # I guessed vaguely from my mother's signs and from the

2. % hurrying to and fro in the house that something unusual were about to happen,
3. % 50 I went to the door and waited on the steps.

4. ® No Error

Question Number : 62 Question Id : 59445943183 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the option 'No Error'.

I guessed vaguely from my mother's signs and from the/ hurrying to and fro in the house that something unusual were about to happen,/ so I went to the door and
waited on the steps.

Options :
1. # I guessed vaguely from my mother's signs and from the

2. ¥ hurrying to and fro in the house that something unusual were about to happen,
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3. #® so I went to the door and waited on the sfeps.
4. ® No Error

A

Google Play

Question Number : 63 Question Id : 59445943184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(The downright dumping of the stocks on the Wall Street have bought) the entire stock market to its knees.
Options :

1. ® The downright dumping of stocks on the Wall Street have brought

2. % The downright dumping of stocks at the Wall Street has brought

3. % The downright dumping of stocks in Wall Street has brought

4. % No correction required

Question Number : 63 Question Id : 59445943184 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option 'no
correction required' if the sentence is correct as given.

(The downright dumping of the stocks on the Wall Street have bought) the entire stock market to its knees.
Options :

1. % The downright dumping of stocks on the Wall Street have brought

2. # The downright dumping of stocks at the Wall Street has brought

3. ¥ The downright dumping of stocks in Wall Street has brought

4. % No correction required

Question Number : 64 Question Id : 59445943185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option no
correction required' if the sentence is correct as given.

The government of the world (I live in was not framed, like that of Great Britain,) in after-dinner conversations over the wine.
Options :
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1. ®¥ Ilived in was not framed, like that of the| Great Britain,

A

2. ® I had been living in was not framed, like|that of the Great Britain,

3. # ] live in was not framed, to be like that of the Great Britain,

4. ¥ No correction required

Question Number : 64 Question Id : 59445943185 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the option no
correction required' if the sentence is correct as given.

The government of the world (I live in was not framed, like that of Great Britain,) in after-dinner conversations over the wine.
Options :

1. * Ilived in was not framed, like that of the Great Britain,

2. # ] had been living in was not framed, like that of the Great Britain,

3. # I live in was not framed, to be like that of the Great Britain,

4. ¥ No correction required

Question Number : 65 Question Id : 59445943186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is really a biennial, but grows itself so freely as to become in the garden.
Options :

1. ¥ centennial

2. % colonial

3. % ungenial

4. ¥ perennial

Question Number : 65 Question Id : 59445943186 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is really a biennial, but grows itself so freely as to become in the garden.
Options :
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1. # centennial

A

2. % colonial

3. # ungenial

4. ¥ perennial

Question Number : 66 Question Id : 59445943187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the overthrow of the Spanish they had already received a great defeat; with the Peace of Westphalia the Catholic advance was baffled.
Options :

1. % Agenda

2. #® Cicada

3. # Aficionada

4. ¥ Armada

Question Number : 66 Question Id : 59445943187 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

In the overthrow of the Spanish they had already received a great defeat; with the Peace of Westphalia the Catholic advance was baffled.
Options :

1. ¥ Agenda

2. # Cicada

3. # Aficionada

4. % Armada

Question Number : 67 Question Id : 59445943188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts can be
rearranged to form a meaningful and grammatically correct sentence.

The first French edition
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P. appeared in 1609, and

A

Q- thestory was kmowt
R. in England before 1625,
S. when a parody

was produced.
Options :

1. % PRSQ
2. ¥ PQRS
3. % PSQR
4. ¥ PSRQ

Question Number : 67 Question Id : 59445943188 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts can be
rearranged to form a meaningful and grammatically correct sentence.

The first French edition

P. appeared in 1609, and
Q. the story was known

R. in England before 1625,
S. when a parody

was produced.
Options :

1. # PRSQ
2.+ PQRS

3. % PSQR
4. ¥ PSRQ

Question Number : 68 Question Id : 59445943189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

A

Intermittent
Options :

1. # Continuous
2. ¥ Recurring
3. ® Swift

4. # Steady

Question Number : 68 Question Id : 59445943189 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Intermittent
Options :

1. # Continuous
2. ¥ Recurring
3. ® Swift

4. # Steady

Question Number : 69 Question Id : 59445943190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below

Asinine

Options :

1. # Intelligent
2. ¥ Preposterous
3. # Sway

4. ® Collide

Question Number : 69 Question Id : 59445943190 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Select the word that is similar in meaning (SYNONYM) to the word given below

A

ZCSTITTe

Options :

1. # Intelligent
2. ¥ Preposterous
3. # Sway

4. % Collide

Question Number : 70 Question Id : 59445943191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¢ Obviate

2. # Oblivate

3. # Obevate

4. % Obivate

Question Number : 70 Question Id : 59445943191 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Obviate

2. #® Oblivate

3. ® Obevate

4. # Obivate

Question Number : 71 Question Id : 59445943192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ Perturbation

2. # Pertuberation
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3. # Pertubation
4. ¥ Pertuebation

A

Question Number : 71 Question Id : 59445943192 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % Perturbation

2. ® Pertuberation

3. % Pertubation

4. % Pertuebation

Question Number : 72 Question Id : 59445943193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A leopard can’t change his spots

Options :

1. % You cannot change who you are

2. # An unreliable person

3. % A very small part of something big or whole

4. % One who causes damage

Question Number : 72 Question Id : 59445943193 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

A leopard can’t change his spots

Options :

1. % You cannot change who you are

2. # An unreliable person

3. % A very small part of something big or whole

4. # One who causes damage
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Question Number : 73 Question Id : 59445943194 Question Type : MCQ Option Shuffling : Yes Is Questionn Mandatory : No Option Orientation :

A

Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Above board

Options :

1. # A very mild punishment

2. ® Very inexpensive, a bargain
3. # Ready to, just going to
4.+ Fair and honest

Question Number : 73 Question Id : 59445943194 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Above board

Options :

1. # A very mild punishment

2. % Very inexpensive, a bargain
3. % Ready to, just going to
4.+ Fair and honest

Question Number : 74 Question Id : 59445943195 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Eager to own and collect things
Options :

1. # Shod

2. ® Tractable

3. % Acquisitive

4. ® Retrospective


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Adda247 A

Question Number : 74 Question Id : 59445943195 Question Type : MCQ Option Shuffling : Yes Is Questionn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Eager to own and collect things
Options :

1. # Shod

2. # Tractable

3. ¥ Acquisitive

4. ® Retrospective

Question Number : 75 Question Id : 59445943196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Embarrassing social mistake
Options :

1. ¥ Faux pas

2. % Spam

3. # Disband

4. ¥ Roister

Question Number : 75 Question Id : 59445943196 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Embarrassing social mistake

Options :

1. ¥ Faux pas

2. # Spam

3. # Disband

4. # Roister

Sub-Section Number : 2
Sub-Section Id : 5944591962
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Question Shuffling Allowed : Yes

Question Id : 59445943197 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (76 to 80)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives

The Maginot Line was one of the largest military structures ever built, second only to the Great Wall of China. It was a series of bunkers, forts, turrets, and
obstacles that spanned more than 450 miles of France's border with Germany. Built between 1930 and 1940, it was one of the world's most impressive forts, yet it
proved to be almost useless.

The Maginot Line was named after the man who argued for its construction, French Minister of War André Maginot. André Maginot had fought with the French
against the Germans in the First World War. Much of this conflict took place along the Western Front, which was a line of trenches across which the two sides
faced one another. Both sides dug in deep and each lost many men over little ground. Conditions were horrid for all and there was a stalemate for many years as
neither side was able to move the other.

Maginot never forgot these awful conditions. He wanted to build a line of defences that would give the French an advantage in a similar conflict. He feared,
rightfully so, that the Germans would attack France again. Germany's population nearly doubled France's. The line of defences that Maginot pictured would allow
a smaller French army to hold off a larger German force. In 1929, Maginot convinced the French Parliament to fund his vision.

Though calling it a line makes it seem thin, the Maginot Line was in fact quite deep. It was fifteen miles wide at some points and varied in structure. There were
outposts disguised as houses. These were manned by troops and rigged with explosives. There were antitank rails and obstacles. These were planted in the ground
to prevent tanks and trucks from passing. There were bunkers armed with mounted machine guns and anti-tank guns. These were for pushing back attackers. And
there were many large and small fortresses along the line. Each had mess halls, lots of supplies, and air conditioning. The Maginot line would give the French a
supreme edge in the case of a head-on invasion by the Germans.

Sub questions

Question Number : 76 Question Id : 59445943198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which is considered to be the largest military structures ever built?
Options :

1. % Fort Hood

2. ® Maginot Line

3. ¥ The Great Wall of China

4. ® Fort Bragg

Question Number : 77 Question Id : 59445943199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Why did Maginot argue to build the Maginot Wall?
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Options :
1. ¥ Because of the horrid conditions in the Ffrst World War

2. ¥ Because he feared that Germans would attack France again and he wanted to have line of defences that would favour France in similar battle conditions
3. # Because Germany had an advantage and he wanted to build a line of defence

4. ® Because it would save more lives on the battle field, if Germans ever were to attack France again

Question Number : 78 Question Id : 59445943200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What did André Maginot serve as in the French Army?
Options :

1. ¥ French Minister of War

2. % War Veteran

3. # French Rebel Leader

4. # German Spy

Question Number : 79 Question Id : 59445943201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. # The Maginot line was the second largest military structures to be ever built.

2. # Maginot had to convince the French Parliament to fund the Maginot Line.

3. ® The reason Maginot wanted to build the Maginot line was because he feared that Germans would attack France again, and he wanted to have an advantage.

4. ¢ In the First World War Germany defeated France which triggered the need for a stronger military structure.

Question Number : 80 Question Id : 59445943202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
How long did it take to build the Maginot line?
Options :

1. ®¥ Around 13 years

2. % Around 12 years

3. ® Around 15 years

4. % Around 10 years
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Question Id : 59445943197 Question Type : [COMPREHENSION Sub Question Shuffling Allowed : Yes Grpup Comprehension Questions : No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives

The Maginot Line was one of the largest military structures ever built, second only to the Great Wall of China. It was a series of bunkers, forts, turrets, and
obstacles that spanned more than 450 miles of France's border with Germany. Built between 1930 and 1940, it was one of the world's most impressive forts, yet it
proved to be almost useless.

The Maginot Line was named after the man who argued for its construction, French Minister of War André Maginot. André Maginot had fought with the French
against the Germans in the First World War. Much of this conflict took place along the Western Front, which was a line of trenches across which the two sides
faced one another. Both sides dug in deep and each lost many men over little ground. Conditions were horrid for all and there was a stalemate for many years as
neither side was able to move the other.

Maginot never forgot these awful conditions. He wanted to build a line of defences that would give the French an advantage in a similar conflict. He feared,
rightfully so, that the Germans would attack France again. Germany's population nearly doubled France's. The line of defences that Maginot pictured would allow
a smaller French army to hold off a larger German force. In 1929, Maginot convinced the French Parliament to fund his vision.

Though calling it a line makes it seem thin, the Maginot Line was in fact quite deep. It was fifteen miles wide at some points and varied in structure. There were
outposts disguised as houses. These were manned by troops and rigged with explosives. There were antitank rails and obstacles. These were planted in the ground
to prevent tanks and trucks from passing. There were bunkers armed with mounted machine guns and anti-tank guns. These were for pushing back attackers. And
there were many large and small fortresses along the line. Each had mess halls, lots of supplies, and air conditioning. The Maginot line would give the French a
supreme edge in the case of a head-on invasion by the Germans.

Sub questions

Question Number : 76 Question Id : 59445943198 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which is considered to be the largest military structures ever built?
Options :

1. # Fort Hood

2. % Maginot Line

3. ¥ The Great Wall of China

4. # Fort Bragg

Question Number : 77 Question Id : 59445943199 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why did Maginot argue to build the Maginot Wall?

Options :

1. # Because of the horrid conditions in the First World War
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2. % Because he feared that Germans would a

JA Google Play

ftack France again and he wanted to have line of defences that woulld favour France in similar battle conditions

3. # Because Germany had an advantage and

he wanted to build a line of defence

4. % Because it would save more lives on the battle field, if Germans ever were to attack France again

Question Number : 78 Question Id : 59445943200 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

What did André Maginot serve as in the French Army?

Options :

1. ¥ French Minister of War
2. % War Veteran

3. # French Rebel Leader
4. ® German Spy

Question Number : 79 Question Id : 59445943201 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :
1. # The Maginot line was the second largest

military structures to be ever built.

2. % Maginot had to convince the French Parliament to fund the Maginot Line.

3. # The reason Maginot wanted to build the Maginot line was because he feared that Germans would attack France again, and he wanted to have an advantage.

4. ¥ In the First World War Germany defeated France which triggered the need for a stronger military structure.

Question Number : 80 Question Id : 59445943202 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

How long did it take to build the Maginot line?

Options :

1. % Around 13 years
2. # Around 12 years
3. ® Around 15 years
4. % Around 10 years
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Question Number : 81 Question Id : 59445943203 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 o ey o1 oo 3 ot fau T Y - fowde 2req & el IfY &1 fadhey 3|

g+ 3fey
Options :
1. % Iy
2. % gdig
3. W
4. % g4
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Question Number : 81 Question Id : 59445943203 Question Type : MCQ Option Shuffling : Yes Is Questiot Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 faded o1 T 3 o fu 7T Y - o=y 2reg & Iel IfY &1 faweu 3|

g+ 3y
Options :
1. % Iy
2. ® gy
3. Wy
4. % g4

Question Number : 82 Question Id : 59445943204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 faseal o O 34 fadwen &1 a9 o 1t fou 77U IfY 2rsg & Tel Wi -fawye &1 fawe g
Gl

Options :

1. ¢ T + Il
2. % dc + APl
3. % T+ Tl
4. % qc +fepr

Question Number : 82 Question Id : 59445943204 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faweal & § 30 faded o1 w0 B3 o1 foT 7T Y reg & T8t WY fawde &1 faweu g
GECal

Options :

1. ¢ T + Sl
2. % Tc + Il
3. % q+ el
4. % qc +feamr
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Question Number : 83 Question Id : 59445943205 Question Type : MCQ Option Shuffling : Yes Is Questiot Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § U o ey o1 T B S TIY e, T ol fadheu 3 |
Options :

1. % I

2. % AN

3. YHU

4. % TN

Question Number : 83 Question Id : 59445943205 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § U o ey o1 70 B S TId e, &1 Ja! f[adheu g |
Options :

1. ® 3449

2. ® 3JHH

3. ¢ Yaul

4. % TR

Question Number : 84 Question Id : 59445943206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fachey &1 99 3 57 fT 77T Weg & HHYRY THNY &1 Tt U 3|

FHABH A

Options :

1. ¥ P Ul ddl

2. ¢ I &b JHH Al
3. % PP g o

4. % HD U Tl

Question Number : 84 Question Id : 59445943206 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25

9 fadeal & § I fahed o7 70 B3 S {3 TN Weg, & HHYRY YA &1 g1 faUg g

A

FHABHA
Options :

1. % P &4l ddl

2. ¥ TG & JHM Al
3. % PP g S

4. % HAH H adl

Question Number : 85 Question Id : 59445943207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 3T faded o1 T B S ST eg 1 I8! faped § |
Options :

1. % Rgefrd

2. % Jqydr

3. % ¢dd

4. ¢ 9gWHR

Question Number : 85 Question Id : 59445943207 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fached! & § S fadhed o7 T % S JUTT Weg 1 e fAbed § |
Options :

1. % fgaran

2. % Judr

3. % ¢ad

4. ¢ SigBR

Question Number : 86 Question Id : 59445943208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g facped! & Q 3 fadhed &7 70 Y S 33! Ueg, b1 T fached T B

Options :
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1. % fgsat
2. % gt

A

3. e
4. % Uc

Question Number : 86 Question Id : 59445943208 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fyepedl § A 39 faehed &1 997 &3 ol 3ol Vod BT e faehed TET |
Options :

1. % fggl

2. % TSI

3.« T

4.% U

Question Number : 87 Question Id : 59445943209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ol 7 9 39 fawey 1 997 Y S U 7T Xeg - T &1 Fe1 o arall fashed g
Ty Uiy

Options :

1. ¥ T, S

2. % Qp, dId

3. % Y[, &b
4. % If<qH, g

Question Number : 87 Question Id : 59445943209 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § O 3 fadeu &1 997 3 S foU 710 Weg - i &1 Wgt o araT fawed g
Y- Y

Options :

1. ¢ X, Mo
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2. ® X, dlqdl

A

3. % Yg] Jih
4. % 3ff=H, Mo

Question Number : 88 Question Id : 59445943210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 34 faded o1 T B 57t fw e fiyemdes wreg o1 98} faed g
Pl Pia

Options :

1. ® ddal, TG
2. % QUOTEAHT, I
3. % gl 9

4. qUOAH, T

Question Number : 88 Question Id : 59445943210 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 3T faded o1 T B3 5t fu 7Y fiyemdes Weg o1 98} faeu g
Feil- Pid

Options :

1. ® dPhol, INF
2. % QugTeH], Il
3. % g1, =

4. qUdH, I

Question Number : 89 Question Id : 59445943211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faemedl § O 3 fadeu &1 997 & S fau 78 a1 & fore gy & We &1 9g! faded g
gfe SR g oY Uil &bt Bt =1 gl |

Options :
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1. % grHTaTd
2. Ay

A

3, % gegrd
4. % faegdf

Question Number : 89 Question Id : 59445943211 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl o O 3 fadeu &1 997 &3 St fou 78 a1 & forw gy & A &1 9e! faded g
afe TR gt o Ut &t et T 8|

Options :

1. % qoTET
2. ¢ hard
3. % Hegrd

4. % fquryf

Question Number : 90 Question Id : 59445943212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl § O 34 fadeu &1 997 &3 St fau T8 argy & foie &1d & 9 &1 98t faded |
I = o forar g |

Options :

1. % 9T IqqH BT
2. % 3quf Ygdra

3. ¢ WG Ydbra

4. % YU IAHE HTA

Question Number : 90 Question Id : 59445943212 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g ol & @ 39 fashey &1 9g &3 oY f3T 77U arag & e &1 & U &1 98! faded g
T 3 U forar g |
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Options :
1. % Y qaT BT

A

2. % 3qUf YdpTd
3. ¢ e Ydbrd
4. % JUTH G BT

Question Number : 91 Question Id : 59445943213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fawmedl § O 39 fadeu &1 997 &3 St fou 71U are & forw uel & e &1 9e! fawed g
i fpaT ST M IE ] |

Options :

1. ¢ gAEdide®
2. % Hgaras
3. % RWAH
4. % JfdEIY®

Question Number : 91 Question Id : 59445943213 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fashed &1 98 &3 5t f3T 770 a1ey & foiw U & N &1 el fadbeu g
Tfrar fram ST M B B |

Options :

1. ¢ AdTdS
2. % MIdRae
3. % JRMIAH
4. % TIfdEIY®

Question Number : 92 Question Id : 59445943214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 fadeal & 9 39 fadmed &1 9g o S foU T4 GeTar &1 9et 3 ara faswed g
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firg st

Options :

A

1. % dHR K]
2. % TR HAT
3. % faum

4. IR

Question Number : 92 Question Id : 59445943214 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ool o 9 39 fadmey &1 9g9 & S foT T4 geTar &1 Uet o ara fased g
fire =8t

Options :

1. % §PR I

2. % TR HRAT
3. % {5

4.« gUTOR

Question Number : 93 Question Id : 59445943215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 fameul o 9 39 fadhed &1 99 X S fAU U GeTor &1 9e 31 arat fdeed g
& ¥ IR F9 &1 7101 |

Options :

1. % A GHI

2. ¢ Y DI Sleg- Sleg] g B Hal
3. % P &I formmr o

4. % DS HTH BHRAT

Question Number : 93 Question Id : 59445943215 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 fametl & 9 39 fadmed &1 99 o S foT T4 GeTar &1 9et 3 ara faswed g
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& ¥ IR S &1 710 |

A

Options :

. % Teha g

2. ¢ Y- DI Segl- STeg] dgH DI Hal
3. % BT HT o1 T

4. % DI HTH BT

Question Number : 94 Question Id : 59445943216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & Q 39 fased o1 T &3 & fou 7T Aol &1 get 31 arer fased g

37T BT SATATY

Options :

1. ¢ uRem H 3 Tfad gt §
2. % UPh HMH Y e a1y

3. % R =g 9§ @A

4. % 304 g H &

Question Number : 94 Question Id : 59445943216 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faweal & Q 39 fadwed o1 7o &3 51 iU TN Aienifad &1 Tet o1 arer fased g

30T BTY STy

Options :

1.« ORem 7 3Fd TfaT B 8
2. % U HH Y qlgl Ay

3. % WYY@

4. % 304 9 H &

Question Number : 95 Question Id : 59445943217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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g faweal o Q 39 fased o1 w0 3 S U U Aenifad &1 get o1 arer faswed g

Sf T GRT 94T HY

Options :

1. % URe & SATHIG H 9% BT ATHYS AT
2. ¢ I Q1,81 & Afd-Rarsil & SR I8!
3. % JUgd HRAT

4. % AR I YT & AT

Question Number : 95 Question Id : 59445943217 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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3. % 3Ugd DIl

4. % SaRI BT U && I

Sub-Section Number : 2
Sub-Section Id : 5944591964
Question Shuffling Allowed : Yes

Question Id : 59445943218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)
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Question Number : 96 Question Id : 59445943219 Question Type : MCQ Option Shuffling : Yes Is Questiot Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B B Y IRRY & IR § FdTdT AT § 3R U8 A Sl g g § 0
Options :

1. ¥ HRMAT, TCL- D 19 o4 F ahaih

2. % ST gagoH!

3. % HARAT, IR W™ UBTH

4. % BT R g A gd

Question Number : 97 Question Id : 59445943220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRRY O F9 & I NOR [PI Td R AR S| 8 2
Options :

1. % By BTy o

2. % STER Geil gaT H grd
3. % AR |

4. GHATRS

Question Number : 98 Question Id : 59445943221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g IRy Fel Ug fohd 1 H ST 2
Options :

1. ¢ dH

2. % SARBI

3. % ded

4, % geol

Question Number : 99 Question Id : 59445943222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e HT WITaTdD SR E 2
Options :
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Question Number : 100 Question Id : 59445943223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3G & g Sfd e o’ |
Options :

1. ¥ HRMFERERY

2. % DRI &b AU

3. % HRMFT R FHTIS g3t

4. % DRATS YIS WA

Question Id : 59445943218 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)
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Sub questions

Question Number : 96 Question Id : 59445943219 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ DR, Wal- b I o H dobdith

2. % ST gagoH!

3. % HAIRAT, Wt Wit yeb ™
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Question Number : 97 Question Id : 59445943220 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

aERY Y T8 & I PR P Ta R AR S W R 2
Options :

1. % 1Y 9 gy fem

2. % STER Geil gaT H grd

3. % e g

4. IS G

Question Number : 98 Question Id : 59445943221 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
g aIRY I Ugd fobg o= H 31 2
Options :

1.« dH
2. % AN
3. % dad
4. % Zadl

Question Number : 99 Question Id : 59445943222 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
e HT WITaTdeh S R E 2
Options :

1. % 3fafgd

2. « Hfddd

3. % UM

4. % QN

Question Number : 100 Question Id : 59445943223 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 101 Question Id : 59445943224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
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Correct Marks : 1 Wrong Marks : 0.25
The mass% of hydrogen in water is

A

Options :
1. # 5.59%
2.v 11.18%
3. % 88.79%
4. % 16%

Question Number : 101 Question Id : 59445943224 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g o gTS SIS o1 SHH % gl
Options :

1. % 5.59%

2.v 11.18%

3. #® 88.79%

4. % 16%

Question Number : 102 Question Id : 59445943225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sugar syrup and tea are examples of
Options :

1. % Compound

2. ¥ Homogenous mixture

3. % Heterogeneous mixture

4. # Elements

Question Number : 102 Question Id : 59445943225 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR SR = & IR 5|
Options :

1. % A%

2. G fayor
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Question Number : 103 Question Id : 59445943226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Blood is an example of

Options :

1. ¥ Sol

2. # Colloidal solution

3. ¢ Colloidal Suspension

4. ¥ Emulsion

Question Number : 103 Question Id : 59445943226 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ad AR LR
Options :

1. % 9d

2. % Hicd faaad

3. ¢ P Tcia

4. % OO

Question Number : 104 Question Id : 59445943227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Glass belongs to which state of matter?
Options :

1. % Solid

2. # Liquid

3. ¢ Solid but atomic structure of liquid
4. # Liquid but atomic Structure of solid

Question Number : 104 Question Id : 59445943227 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25

&g fpg uerd P awyT I Yaifdd 82

A

Options :
1. % 39
2.%%d
3. ¢ 31 Wi 5d B URATY] IR
4. % gq dfb 31 D1 URATY] TR

Question Number : 105 Question Id : 59445943228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the two statements given, analyse and answer:

I) Solids have a finite shear Modulus whereas liquids do not.
II) Atoms are always in thermal motion and do not have a fixed position

Options :

1. ¥ Only I is true

2. % Only Il is true

3. # Both I and II are true and II is the correct explanation of |

4. ¥ Both I and II are true but II is not the correct explanation of I

Question Number : 105 Question Id : 59445943228 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

faw 7T Y BT & forg, foraiwor & IR I <
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Options :

|. % Pad 18 IS

2. % HIT N TA G

3% [ 3RS TAE MR 11, 1 B I8! ARSAT

4.+ 1 3R 11 1 I € AfPp 11, 1 B1 Tg) AR 181 &

Question Number : 106 Question Id : 59445943229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Addaz2yy7

Correct Marks : 1 Wrong Marks : 0.25
An element with atomic number 103 has a nudlear charge of +103. So its charge would be balanced by

A

Options :

1. ¥ 103 electrons
2. # 103 protons
3. # 104 electrons
4. ® 104 protons

Question Number : 106 Question Id : 59445943229 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHETY] FHHIH 103 T dcd BT ATVBIT A +103 T | 3: THBT STAR g1 qferd forar sma|

Options :

1. ¥ 103 olagA
2. % 103 Wi
3. % 104 3oaCH
4. % 104 TCH

Question Number : 107 Question Id : 59445943230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An electron near the nucleus is strongly attracted by the nucleus and has
Options :

1. ¥ Low kinetic energy

2. ¥ Low potential energy

3. # High kinetic energy

4. ¥ High potential energy

Question Number : 107 Question Id : 59445943230 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & fRdpe fRYT gaaei- TS gRT fiid SHd giar § 8ik 399 el
Options :

1. % SIS SHoll

2. ¢ FH o FHoif
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Question Number : 108 Question Id : 59445943231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many emission spectrum for sodiumlie in the range 588-590nm?
Options :

1.¥2

2. % 4

3.% 1

4. %0

Question Number : 108 Question Id : 59445943231 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ifSaTc o forg fham IToi auishH 588-590 nm &1 AT H 62
Options :

1.2

2. % 4

3. %1

4. %0

Question Number : 109 Question Id : 59445943232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of these stands false for Bohr's Theory?

Options :

1. % An electron does not radiate energy if it stays in one orbit

2. % When an electron moves from one orbit to another it either radiates or absorbs energy

3. % For an electron to remain in its orbit, electrostatic attraction between electron and the nucleus which tends to pull the electron towards the nucleus must be
equal to the gravitational force

4. % The energy of an electron in orbit i.e. its angular momentum, MVR must be equal to a whole number n of quanta

Question Number : 109 Question Id : 59445943232 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

0 I S 91 IR o RIGId & o 3 62

Options :

1. % AT STl T [AfhR1 76} Bl § TS I T Hem A gl 8

2. % T9 BIg SaideH Uh &l I GORI H&fl & SITdT § <l 98 T al SHoll b (a0l Bl § a7 Sa=iisd Rl 8

%mesﬁw%%?mmﬂﬁaﬁwﬁ%ﬁmsﬁwf 3R Ty & st fRRAGI®T THyur, S Sadeid & A1fd Pt 3R WiadT §, sy ad
IR |

4. % FHeflH ZAGS DI Soll AT BT IV T, MVR HicT B! JUT WS n & SRISR g1 16T

Question Number : 110 Question Id : 59445943233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Equilibrium constant for N2Os = 2NO: (g) at 298K will be .
(Given the partial pressure of N;O4 = 0.20 atm and NO; = 0.15 atm)
Options :

1. ¥ 0.12

2. % 0.15

3.40.11

4. % 0.18

Question Number : 110 Question Id : 59445943233 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
N,O, = 2NO, (g) & forT 298K o¥ #eor T g
(N2O; = 0.20 atm 3T NO, = 0.15 atm & 371 & ' <@a gO)

Options :
1. % 0.12
2. % 0.15
3.40.11
4. % 0.18

Question Number : 111 Question Id : 59445943234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

Which of the following equation is true for a perfect gas equilibria?
Options :

| v b= T RT In (p/p7)
» % W= -RT In (p/p7)
3 % W= T RT In (p*/p)

4 % WU -RT ln (p/p)

Question Number : 111 Question Id : 59445943234 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafiRad & 3 &1 a1 gHieR sieRf 19 IrawT & fog 9 g2

Options :
| v B=H + RT In (p/p’)

, % K=K - RT In (p/p7)
5 % W=H + RT In (p/p)

4 » HH - RT In (p*/p)

Question Number : 112 Question Id : 59445943235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reaction A=B can be stated as at equilibrium when
Options :
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L% Ha> HB

A

)« M2 Ha
» HATHB

4 x Ha=0

Question Number : 112 Question Id : 59445943235 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfAfFAT A = B F HIFISEAT 9T FgT 5T Hedl g A |
Options :

| % Ha”> Hg

2. IJ-B} Ha
3. IJFL= He

4% Ba=0

Question Number : 113 Question Id : 59445943236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an experiment on adsorption for hydrogen on different faces of copper
crystal, adsorption on face 1 E; was found to be 28kJ/mol and on face 2 E,
was found to be 33 kJ/mol. If Arrhenius behaviour is assumed and
frequency factors are the same, the rates of adsorption on equal areas of 2
faces at 250 K is

Options :
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1. %105
2. % 8.96

A

3.¢¥11
4. % 50

Question Number : 113 Question Id : 59445943236 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

" frrea & e v W gEsea & HRIvor 97 & 99 &, B 1 E, 9T 94T &
3rfereior 28kJ/mol & 3T we 2 E, =X 33 kJ/mol 93w T afy 3mMfasy su9er # A o
ST 3T 3gfcd FRe FAT @, af 250 K X 2 wefel & HHA &§ 9 HRivor a3 gl

Options :
1. % 10.5
2. % 8.96
3.4 11
4. % 50

Question Number : 114 Question Id : 59445943237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one is true for Langmuir Isotherm associated without dissociation?
Options :

| & 0=(ap)*+ {1+{ap)'?}
, « 8=ap/(1+ap)
3 % 9=ap/(l-ap)

4 % 0=(ap)2- {1+(ap)'?}

Question Number : 114 Question Id : 59445943237 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25

S 1 f3dier & 1 2T goi e ga & forn a8t 82

A

Options :
| % 8= (ap)"*+ {1+(ap)"?)

» » 6 = ap/ (1+ ap)
5 % 8= ap/ (1- ap)
4 % 8= (ap)'® {1+(ap)'®}

Question Number : 115 Question Id : 59445943238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Observed standard enthalpy of a surface phenomenon for CH; as adsorbate
is -21 kJ/mol. This is an example of

Options :

1. % Physisorption

2. # Chemisorption

3. # Physical adsorption

4. # Chemical adsorption

Question Number : 115 Question Id : 59445943238 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ORI & & & CH, & forv gagr =awy & 9fég a@=es gor A7 -21 kJ/mol &1 T8
3ETEI0T gl

Options :

1. ¢ T RERY=A

2. % HIIRURH

3. % BShd TSHRURH
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Question Number : 116 Question Id : 59445943239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For graphical determination of rate constant of a first order reaction, when
In[p/po] is plotted against t a is obtained.

Options :

1. # Sigmoidal curve

2. # Increasing slope

3. ¢ Decreasing slope

4. # constant slope

Question Number : 116 Question Id : 59445943239 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH FHIfe HT JHEHI & T s F wedT FuRer & e, J9 In[p/lpy] & t F TFEA AT AT FaT
9T @ gl

Options :

1. % Rrdgsa &d
2. % SHIRT Ty
3. ¢ [SHIRIT WY
4. % DA WY

Question Number : 117 Question Id : 59445943240 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The rate determining step in any reaction is
Options :

1. ¥ The slowest step

2. # The fastest step

3. # Not determinable

4. ® The first step
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Question Number : 117 Question Id : 59445P43240 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

et ot arftifopan & aR R0 e =RU BaIgl
Options :

1. ¥ T WIaE XU

2. % THREE LY

3. % 9l SleABZALTA

4. % THE WY

Question Number : 118 Question Id : 59445943241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CHiLiatconon™ CH3CHO (alconoy — CH30CH2CHialcoholy™ I calcohol) 1S an
example of

Options :

1. # Unimolecular reaction

2. % Bimolecular reaction

3. # Radioactive decay

4. % Pseudo-First order reaction

Question Number : 118 Question Id : 59445943241 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CHalaiconon* CH3CHLO (aiconay — CH3OCH,CH3aconan* | (aicohoy 3T 3aT18L0T gl
Options :

1. % ThaUle 3ffifchar

2. « fg-amuifae sif¥fdrar

3. % fsAraforadr e

4. % FIAYYH vy Nfar

Question Number : 119 Question Id : 59445943242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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According to the Debye-Huckel limiting law, if the concentration of a dilute aqueous solution of
KCl 1s increased 9 folds, the value of In Yz {molar mean 1onic activity coefficient 1s

A

Options :

1. % Increase by 9 fold
2. # Decrease by 9 fold
3. # Increase by 3 fold
4. % Decrease by 3 fold

Question Number : 119 Question Id : 59445943242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

éﬁﬁ-@%ﬁéﬁﬁﬁﬂ%%@@ﬂﬂﬂ%mﬁﬂgﬁ?ﬁﬁﬁﬂﬁﬁ%9wwaﬁ%a‘rmywmmoﬂmmwm%wﬁﬁﬁrwm
|

Options :

1. % 9T A gfG
2. % 9 TATY Terd!
3. % 37T gfg
4. 3TATY Herdt

Question Number : 120 Question Id : 59445943243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When two different concentrations of Hydrochloric acids are used as electrolytes in a system, it contributes as an additional source of potential difference at the
interface. This is an example of

Options :

1. % Salt bridge

2. # Reducing agent

3. % Oxidising agent

4. % Liquid junction potential

Question Number : 120 Question Id : 59445943243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

O SIS 3 & &l AHTHT-HTHT Tigdl BT IR Fepra # faggd suered & ¥ fhar ST §, df I8 IR ad (3etbhy) H GHIfad 3R &
AR AT F EUH A CHIANZI TG HI 3B
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Options :
1. % 91 I (Hice foo)

A

2. % IUAASH
3. % IRIDRD
4. ¢ %q I fayg (fes Siewm aiciRia)

Discipline2
Group Number : 7
Group Id : 594459963
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2
Section Id : 5944591688
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591966
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 59445943244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
To prepare 1L of 5N solution of conc. HCI from 37% HCI one would need how much of HCI?
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Options :
L. % 370 mL

A

Google Play

2. % 493 mL
3. % 50mL
4. ¥ 256 mL

Question Number : 121 Question Id : 59445943244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

37% HC1 ¥ Fg HC1 BT SN faerH &7 1L IR S & 1T HCl &t et Sia=adba gt
Options :

1. % 370 mL

2.9 493 mL

3. % 50mL

4. % 256 mL

Question Number : 122 Question Id : 59445943245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When solid solute is added to a solvent, some solute particles in solution collide with the solid solute particles and get separated out of solution. This process is
known as

Options :

1. ¥ Dissolution

2. % Solubilisation
3. ¥ Crystallisation

4. ¥ Deionisation

Question Number : 122 Question Id : 59445943245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o forelt faamaes & 31 faa firamar Srar € af faae @ o fada s S faau & Sl Y eavid § SR e S e g S 8 1 sq ufpan vt
& A Y SET S 8|

Options :
1. % fqueq
2. % oIl
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3. ¢ fopee iR
4. % {3t

A

Question Number : 123 Question Id : 59445943246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A solution of Gallic acid in ethanol was made by dissolving 0.05 mg in 250 mL of ethanol(w/v). This solution in ppm would be
Options :

1. % 0.05 ppm

2. % 1 ppm

3.4 0.2 ppm

4. ® 0.5 ppm

Question Number : 123 Question Id : 59445943246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST (W/v) & 250 mL & 0.05mg ey sdater & Ao 3ieer &1 Reasr samar 1@ an a8 Boas ppm &
g

Options :

1. % 0.05 ppm
2. % 1 ppm
3.4 0.2 ppm
4. % 0.5 ppm

Question Number : 124 Question Id : 59445943247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When 100ml of H2S04, HCI and HNOs in their respective beakers are
mixed with water to make a total volume of 500 mL of each solution.
increasing molarity will be in order

Options :
| ® H:S0O4<HCI=HNO;
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) ® HNO:;=H;504<HCI1

A

3 o HCI=HNO;=H>504

4. % H:50,<HNO;<HC1

Question Number : 124 Question Id : 59445943247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

1§ H,S0,, HCI 3T HNO; & 100ml %t Y% faeras &t o AT 500mL &=t & e 3a7a wafoa
& |y fAPE fear Srar &, af aedr g5 Ao FH H el

Options :
| % H2S30,4<HCI<HNO,

, x HNO;<H,S0,<HCI
5 » HCI<HNO,<H,S0,

4 % H2304<HNO;<HCI

Question Number : 125 Question Id : 59445943248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The geometry in accordance with VSEPR theory in CIFs" is
Options :

1. # Square planar

2. #® QOctahedral

3. # Square pyramidal

4. ¥ See saw
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Question Number : 125 Question Id : 59445P43248 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CIF,” # VSEPR fleia & qat sanfafa gl
Options :

1. % 3 JUTCT (WPRR WIR)

2. % YBhclidhy

3. % R fRiffred

4. ¢ ATl

Question Number : 126 Question Id : 59445943249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following has the largest bond order?
Options :

1% C

2. % Oz
3.¢ Mo

4.8 B2

Question Number : 126 Question Id : 59445943249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafad 7 9 fog A ged geT die 3ifse 82
Options :

1. ® CE

2. 02
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5.v Nz

A

4. % F2

Question Number : 127 Question Id : 59445943250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water is polar because

Options :

| % There is a dipole moment between H~ and O

2. ® It has a linear arrangement and an electronegative central atom
3. % The electric charge is not uniformly distributed

4. % 1t has repulsive lone pairs which results in a bent structure

Question Number : 127 Question Id : 59445943250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRrydm R e |

Options :

. H 3t O ¥ &= gfyg amgt dar ¥

2. % T Y TR 3R faqyd BT Hed TRATY &
3. % fIagd 3w 99 ¥ 3 faaRkd 78 aiar &
4. ¥ TH UfdHRS ThTh! STl Bl & orHP TR Ha! g8 UaT gidl &

Question Number : 128 Question Id : 59445943251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Even if fluorine is more electronegative than hydrogen. resultant dipole of
NH; is greater than that of NF;. This is due to

Options :
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| = Presence of extra lone pair in NF3

A

Google Play

» % Repulsion and steric hindrance between N and F in NF3

The orbital dipole in NF; is opposite in direction to the resultant dipole
3 « moment of N-F bonds

4 % Total charge on NHj is positive

Question Number : 128 Question Id : 59445943251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T & Tl gEEia H Jelar & A#f0% Hor egdr &, NH; 1 aRumsdr gfayg NF; & samer giar &
& SHROT grar gl

Options :

|« NF; & sfaftea veer Sdr & saffufa
, « NF; & N 31X F & &= gfaedor st eifas amen
 NF; 7 wefi gfiga, N-F 3y (3es) & 9Romed afaye smeor & fer & fada 2

. NH; 9T Fof 31a9T oaTcH® g

Question Number : 129 Question Id : 59445943252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a spring is wound, 100J of work is done on it but 15J escapes to the surrounding as heat. What will be the change in internal energy of the spring?
Options :

| % AU= -115J
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A Google Play
2« AU= +115)
3. v AU= +85J
4 % AU= -85J

Question Number : 129 Question Id : 59445943252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U &I &) {1 S1d1 8, ol S W 100J BRI 5T SIaT § |fhT 15) S8 & U & U H T oira o | {7 3t 317dRes SHoit & &1 ulkad g

Options :
| % AU= -115J
, % AU= +115J
1 v AU= +85J
4, % AU= -85J

Question Number : 130 Question Id : 59445943253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chemical reaction carried out in an open container forms certain amount of gas. The work done by this system will be
Options :

1. %0

) % PexAV

3.¢ PallV

4. % VAPex
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Question Number : 130 Question Id : 59445943253 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

TP Gl U (@Fe-R) & $1 T I9rafss sififrar § ffda amn & g 59t 81 59 Fom gr1 fea mar ard el

Options :
1. ® 0

5 % PedV
3.¢ PV

4. % ViPex

Question Number : 131 Question Id : 59445943254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analyse the two statements for assertion and reasoning:

a) The internal energy is a state function and depends only on a current state
of the system and is independent of how that state was achieved.

b) The translational contribution to the molar internal energy of a perfect
gas is 3.72kJ/mol at 25°C.

Options :

1. ¢ Both a and b are true and a is the correct explanation of b

2. # Both a and b are true but a is not the correct explanation of b

3. % Only a is true

4. % Only b is true

Question Number : 131 Question Id : 59445943254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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T 3 aF F B g Fua] 1 e #:3

A

Google Play

a) HTANeF F=T TF JTEAT 1T g 3T Faa T 1 a9\ 3T o &= #ar ¢ 34T 37 3=
H HE ea R T or 3EE 7 2

b) T 3ee g Fr A@er 3AF FAT F BT ryEEdyw @ee= 25°C 9 3.72kJ/mol Bl
Options :

1.¥ 2 3R b AN I 3R o, b P TS T

2. % 3 3R b GHI I g AT a, b B! Tg! SARST 181 &

3. % HadaTd g

4. % FAAb I G

Question Number : 132 Question Id : 59445943255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An element has atomic number 25. This element belongs to
Options :

1. # s-block

2. ® p-block

3. ¥ d-block

4. % f-block

Question Number : 132 Question Id : 59445943255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS dcd B URAY SHHIP 25 § | T8 I EREIRGE
Options :

1. % s &dld

2. % p&AIP

3. ¥ -=lD

4. % f&AID

Question Number : 133 Question Id : 59445943256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
The heat of atomization decreases in order |

Options :

1. % Cs>Rb>K>Na>Li
2. ¥ Li>Na>K>Rb>Cs
3. # Na>Li>K>Cs>Rb
4. # Cs>Rb>Na>K>Li

Question Number : 133 Question Id : 59445943256 Question Type :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATU[HRUT 1 FHBAT %1 8 gedt g
Options :

| = Cs>Rb>K>Na>Li
» v Li>Na>K>Rb>Cs
; % Na>Li>K>Cs>Rb

4 # Cs>Rb>Na>K>Li

Question Number : 134 Question Id : 59445943257 Question Type :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ionic radii increases in the order
Options :

| % Cr-<Cr;-<Cr4-<Crs;-<Crg-

7« Crs:<Cr5:<Crs:<Cr3:<Cry:
3 % Crg-<Crs-=Cri-<Cry-<Cri-

4. % Cr=<Crs-<Cri-<Crs;+<Cres-
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MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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A

Question Number : 134 Question Id : 59445943257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
3t Brean HHH ggdl g
Options :

1. % Cr2+'-1Cr3+{Cr4+€Cr5+{Cr5+

) o Cr5+'<Cr5+'=:Cr4+<Cr3+'=:Crg+
3 % Cr5+€Cr5+€Cr3+€Cr4+€Cr2+

4 % Cra.<Cry.<Crs.<Crs.<Crs.

Question Number : 135 Question Id : 59445943258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA & 98 & AR $F 91 94 62

Options :

1.\{,TF* AT VP il gfeor a2
L TP FRV e geisior T
; x TP HR VY dery e 8

L » T 3RV & R 3 femmw (Fewertes) g

Question Number : 135 Question Id : 59445943258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
According to Fajan's rule which one holds truq?

A

Options :
|« Ti¥" and V3" will be highly polarising

, % T and V3" will be poorly polarising
3 % Ti* and V3* are neutral ions

4 % T and V3* will have stable gas configuration

Question Number : 136 Question Id : 59445943259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A compound X produced at oil refineries and also present in natural gas
which when mixed with steam and passed over a nickel catalyst at 800-900°C
produces hydrogen as a product. The compound is

Options :

1% CO

2. % NH;
3.« CHi

4, % CHs

Question Number : 136 Question Id : 59445943259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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oo regaial # senfea i X i spfaes @ 7 o gz ¢ ©F a9 & any) fafde s= @ sk

8U0-900"C W felehel 3c9ieh & 3R W ISl § a6 3¢9 & T H FEEiel HI 3cIeeT H{al g1 AT

gl

Options :
1. % CO;

, » NH;3
3« CH,

4 % CH3

Question Number : 137 Question Id : 59445943260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tritium is an isotope of hydrogen which is radioactive. It decays by
Options :

| ® o©-emission

, % positron emission
3 % ¥ emission

4  P-emission

Question Number : 137 Question Id : 59445943260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fefean gregion &1 grefe § o e 3| a8 &g g

Options :
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1. % a- BeHTA

A

5 % TSI ScHSNA
3 % Y'B?HG&H

4 o B- FTESIT

Question Number : 138 Question Id : 59445943261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atomic hydrogen recombines to give molecular hydrogen and a large amount of heat in a very fast reaction and can also be used for welding metals. This is
because

Options :

1. # Hydrogen molecule is very unstable at room temperature
2. # Hydrogen does not react readily with other elements
3. ¥ Dissociation of hydrogen molecule is highly exothermic

4. # Hydrogen only exists as ions for stability

Question Number : 138 Question Id : 59445943261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRHTY] B8 SIS U: YA SR dgd g SifHfehar o Suifdes grgsior iR Sl AT H SSAT <dT § 3R S9! SUaNT argaef & afee™ 3 forg of faar s
qHdl 81 T8 S PRUE

Options :

1. % GIZSIoM U] FHe&f U R §gd SRR

2. % BIZSIoM 3= dadl & 1Y ST § Ufdferar gt s g

3. ¥ BIEGIoH 310] &1 faere 3rcafiies FHemad g g

4. % GIZSIoM had 3Tl & ©9 H fRRa1 & fau Hivg §

Question Number : 139 Question Id : 59445943262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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An element X essentially used in fertilisers andl soap is obtained by electrolysing at high temperatures along with [sodium. Element X is
Options :

1. #® Lithium
2. # Sodium
3. ¥ Potassium
4. % Rubidium

Question Number : 139 Question Id : 59445943262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IaReh! 3R AT H Sifardc: STGNT febaT ST aTel Ueb ded X HISTH b Y I AUH IR fAqgd Sue §RI U fobal Siiell 81 e X gl
Options :

1. % forfe

2. % Hifggw

3. ¢ UieRrm

4. % Sfafead

Question Number : 140 Question Id : 59445943263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Electrolysis as a source of extraction of metals are only successful when
Options :

1. # Aqueous solution of metals are used
2. ¥ Fused halides are used

3. # Metal oxides are used

4. # Metal hydrides are used

Question Number : 140 Question Id : 59445943263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

yTgait & Frepsur & Hid % w0 # figgd sroued avl 9% §lar g &ie
Options :

1. % YTg3fi P STey faer o1 uaT foban o &

2. ¥ TS 8IS S BT SUANT b ofTay 3

3. % YTq 3RS S BT ITUNT T STl 3


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaz2yy7

4. % YT TSSIIS B ITANT b AT &

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Discipline3

8
594459964

Discipline3

5944591689
1

Online
Mandatory
20

20

20

Yes

1
5944591967
Yes

A

GET iT ON

Google Play

Question Number : 141 Question Id : 59445943264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

Effective atomic number of Fe?" in complex [Fe(CN)s]* is

Options :
1. % 26
2. % 24
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3. ¢ 36
4. % 34

A

Question Number : 141 Question Id : 59445943264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TeeT [Fe(CN)g]* & Fe™ & Toidr AT HHH 2l
Options :

1. % 26

2. % 24

3.9 36

4. % 34

Question Number : 142 Question Id : 59445943265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to CFT (crystal field theory) [Ni(CN)4]* has
Options :

1. # Triagonal structure

2. % QOctahedral structure

3. ¢ Square planar structure

4. ® Tetrahedral structure

Question Number : 142 Question Id : 59445943265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

CFT (freeer Bres 201l & @R NICN) > & gar &l
Options :

1. % PN I (TR WRR)

2. % PGBy AT

3.« 1 GHACH WA (FHRR WHR TR)

4. % JIUHAD Y TR (CCleSd WRR)
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Question Number : 143 Question Id : 594450943266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A hydrocarbon used as a refrigerant and aerosol propellant is prepared using Wurtz reaction with bromoethane and sodium metal in dry ether. The final product is

Options :

1. # Ethane

2. % n-Propane
3. ¥ n-Butane
4. # Ethene

Question Number : 143 Question Id : 59445943266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRid® 3R TR e & U & SUINT {51 9 aTel g1Re hTe Y SR & SAgA 3R WS U1 & 1Y gegl HTfhal BT JuN R daR
fpg Srar 81 sifew I gl

Options :
1. % 399
2. % n.gUa
3. ¥ n-&cH
4. % T

Question Number : 144 Question Id : 59445943267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the reaction CH;COONa+INaOH (in presence of CaO and heat)— A + B.
A & B respectively are &

Options :
| % CH;COOH ; NayCOs

) % C:;HsOH ; NaxCO;

3 % CiHs; NayCOs


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Addaz2yy7

4 CH; ; Na;COs

A

Question Number : 144 Question Id : 59445943267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fEafar CH,COONa+NaOH (CaQ 3T FvAT & suffufa #) — A + B # A 3 B AT
— A&

Options :

| % CH;COOH ; Na,COs;

) ® C2H5OH : NEQCOg
3 % CoHs ; NayCOs;

4. CH4 : N32C03

Question Number : 145 Question Id : 59445943268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Benzene reacts with bromine in presence of Iron(IIl) bromide as a catalyst to form
Options :

1. ¥ Bromobenzene and HBr

2. % Only bromobenzene

3. % Only HBr

4. ¥ No reaction at all

Question Number : 145 Question Id : 59445943268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 3R (1) TS Bt I T IIRS & T H T & forg s & a1y ufaferan sar g1

Options :
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1. ¢ SHISoH 3R HBr
2. % Had giHdu

A

3. % PHad HBr
4. % PYs AT T81 Bt

Question Number : 146 Question Id : 59445943269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bond angle of C-C bonds in Benzene are
Options :

1« All 120°

> % Three are 180° and three are 120°
3 % Allare 60°

4. % Three are 60° and three are 120°

Question Number : 146 Question Id : 59445943269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IOl B C-C 3MTaY BT TS BT garg|
Options :

| v T 120°

, « at 180° § 3R e 120° §

, » T 60° ¥

4 % A 60° § 3R & 120° €
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Question Number : 147 Question Id : 59445943270 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In general, the most stable resonance structure for a polycyclic aromatic hydrocarbon is
Options :

1. ® One with largest number of double bonds

2. ® One with greatest number of rings

3. ¥ One with rings, all of which corresponds to Kekule formulations

4. ® One with largest number of substituents

Question Number : 147 Question Id : 59445943270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHTG:, UicTeidas WHfes grEsiaTe & e vay fRR 3A1E TR gl
Options :

1. % ST Y DI T Fo! HeAT arell

2. % fO1 ) Gl St G gl

3. ¢ 0 & 1y a1e U, ford @ ot el e O Ad Erdl &

4. % YITRITUE &t 99y Fa1 T=AT aTel U

Question Number : 148 Question Id : 59445943271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reactivity of primary, secondary and tertiary hydrogen for bromination is
Options :

1% RCH;=R:;CH-=R;CH

2 R:CH=R:CH-=RCHj;

3 % RCH:=R;CH=R.CH;,

4 % R;CH>=RCH;:=R;CH>

Question Number : 148 Question Id : 59445943271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

SIHIBRUT & forg urufies, fgdtas ok gt gregier o ufdferarsfiear gl

Options :
| % RCH3>R,CH,>R,CH

, + RsCH>R,CH,>RCH;
5 » RCHs>R,CH>R,CH,

4 % RaCH>RCH;>R,CH,

Question Number : 149 Question Id : 59445943272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For bromination of benzene, the major product formed will be
Options :

1. # Hydrogen bromide

2. ¥ Bromobenzene

3. # Cyclobromobenzene

4. ® Cyclobromopentane

Question Number : 149 Question Id : 59445943272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST & SHHTHRUT o foTT, g TS o 711, 98 BRI
Options :

1. % E§I$§\IUH CIEIES]

2. ¢ SHIsSH

3. % ATgaRISIHISI

4. % FrgeRisiHTC

Question Number : 150 Question Id : 59445943273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

1, 1- Diphenyl-2-propanone is reacted with compound a and b to form 1,1-Diphenyl-2-propanol. a and b corresponds to
Options :
| % a=LiAlHy; b= diethyl ether

» % @a=LiAlH4HO: b= diethyl ether
N LiAlHy diethyl ether; b=H;O

4 % LiAlHy; b=diethyl ether, z20

Question Number : 150 Question Id : 59445943273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1,1- STEFSH-2- Tt AP a 3R b & 1Y 1,1-STShATgd-2-HIUHIT S & fod Ufdfohar IRAT 81 a 3R b BRG]

Options :

A= LiAIH; b = TS AT

, « A = LiAH,, H0; b = smrumser $:
s v A = LiAIH,, samss 33 b = H,0
, % A = LAH; b = smsa $2R, 420

Question Number : 151 Question Id : 59445943274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In phenol, the partial double bond character from the carbon - oxygen bond is a result of
Options :

1. ¥ More number of resonance structures
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2. ® Electronegativity of Oxygen atom

A

3. ¥ Conjugation of the unshared electron paif of oxygen with the aromatic ring

4. % Symmetric carbons in the structure

Question Number : 151 Question Id : 59445943274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fOra o, Fra-SHTRIoH ey § 31w Saa 3ae diaex &1 IR ]
Options :

1. % 3G YIS BT iU T

2. % SIRITSH URATY Dt faggq-BumdESHdl

3. ¢ WA R & W1y ST & SRIgHIRTT Salae - g &1 TG

4. % T § T HreA

Question Number : 152 Question Id : 59445943275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In elimination reaction of sec-Butyl trimethylammonium hydroxide, major product formed would be
Options :

1. ¥ 1-Butene

2. ® 2-Butene

3. % Both 1-Butene and 2-Butene in equal amount

4. ¥ No reaction occurs

Question Number : 152 Question Id : 59445943275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

-SG5 CIRBUR AT gIEeiaures dt 3o a4, §+ d1e UgE 3G BRI
Options :

1. -9

2. % 2.9

3. % |- 3R 2-geA gl G AT A §

4. % B3 AMNfpaT T Bt 8
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Question Number : 153 Question Id : 59445P43276 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
SYTEA 5 g

Options :

1. ¢ THAT SR

2. % AT W

3. % A SR

4. % gRIYTSIRID TS

Question Number : 153 Question Id : 59445943276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diethyl ether is

Options :

1. % Symmetrical ether

2. ®# Unsymmetrical ether

3. % Mixed ether

4. % Heterocyclic compound

Question Number : 154 Question Id : 59445943277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Acetaminophen is an example of
Options :

1. ¥ Antipyretic and analgesic

2. # Anti-inflammatory

3. # Antibiotic

4. ® Anti-microbial

Question Number : 154 Question Id : 59445943277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRYeTiA A kAR

Options :
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1. ¢ SIRERI 3R IEAER

A

2. % JorRIeh (UET- S0
3. % gfaaifas
4. % geroiiaridt

Question Number : 155 Question Id : 59445943278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A powerful narcotic used for relief of pain and has high addictive property is
Options :

1. # Quinidine

2. ¥ Morphine

3. # Caffeine

4. ® Aspirin

Question Number : 155 Question Id : 59445943278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3¢ 9 1Ed & forg IuanT faran S arel fdaiTelt T iR Ryt 3 oot 7ur §, 98 gl
Options :

1. % fepTers

2. ¥ ARG

3. % BB

4. % TRURA

Question Number : 156 Question Id : 59445943279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Acetylsalicylic acid, the most widely used mild analgesic is commonly known as
Options :

1. ¥ Paracetamol

2. ¥ Aspirin

3. #® Quinoid

4. # Morphin
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Question Number : 156 Question Id : 59445P43279 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Google Play

Correct Marks : 1 Wrong Marks : 0.25

TRICE AN iE RS, 9ad ATU® U ¥ IUANT fodT S JTdl geab] THTeal{Ia, STHAR IR & A ¥ S S g |
Options :

1. % OIRerEd

2. ¢ TRURA

3. % fpdigs

4. % ARBH

Question Number : 157 Question Id : 59445943280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Ion exchange method, study of which factor helps in determination of stability constant of complexes in solution?
Options :

1. # Solubility

2. ¥ Heterogenous equilibrium

3. # Conductivity

4. % Polarizability

Question Number : 157 Question Id : 59445943280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3mg fafa faft 3, i wRe &1 i e § ey 3 fRRar fRRis & Hufkor & ggradr s=ar g2
Options :

1. % foergar

2. ¢ fAvOgS] SrRIaRAT

3. # Ydlgdhtd

4. % yquiigar

Question Number : 158 Question Id : 59445943281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

[Co(NHy)e> wiFate® &I
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Options :

1. ¢ SHIAP I HRR difded TTids =9 3 fspg

A

Google Play

2. % SIIASY fAfssg afd o 0 9 SifRR
3. % Tfaol 3R SH-IAH T gl T 3RR
4. % TS 3R SEHI-TTAPI G 9 R

Question Number : 158 Question Id : 59445943281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

[Co(INH3)s]* complex is
Options :

1. ¥ Thermodynamically unstable but kinetically inert
2. # Thermodynamically inert but kinetically unstable
3. % Both kinetically and thermodynamically unstable
4. % Both kinetically and thermodynamically stable

Question Number : 159 Question Id : 59445943282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

During photochemical reaction of alkenes having cis and trans isomer, photolysis causes generation of
Options :

1. ®¥ Mixture richer in trans isomer

2. ¥ Mixture richer is cis isomer

3. # Mixture containing only trans isomer

4. ® Mixture containing only cis isomer

Question Number : 159 Question Id : 59445943282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I 3R i qHTaad! a1 Ueb - & UHRRINEMS fHfHal & SR, THTRl-3Tge- &I AT BT HRU Fd1 5 |
Options :

1. % fiysyor o SuTaTd § 949G §

2.« fiygyor I gorandt # a9g ®

3. * Shacl ¢ HTagd! gard fHryor
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4. % had G GHTGTd! gad 8o

A

Question Number : 160 Question Id : 59445943283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The cage like open framework structure made of aluminosilicates which has a very stable nature to resist all kind of environmental conditions are termed as

Options :

1. ¥ Mesh

2. # Carbene
3. ¥ Zeolites
4. ® Fullerenes

Question Number : 160 Question Id : 59445943283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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CEIS NI

Options :

1. % AY

2. % HifeA

3. ¢ fS3Nage

4. % oA
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Question Number : 161 Question Id : 59445943284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Paterno-Buchi reaction, the major product formed is
Options :

1. % cis adduct

2. # trans adduct

3. ¥ Racemic mixture

4. # Adduct formed from a long lived diradical intermediate

Question Number : 161 Question Id : 59445943284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

TeRAL-T Hffshar H, TR SedTe S ST 8, 98 gl

Options :

1. ¢ I 3Hfiadq (Tsaw)

2. % T 3ffiadH (Tsae)

3. % JfH® o

4. % T d IHY d& e ard fgerdf neradf @ s7= aran siftyad= (teae)
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Question Number : 162 Question Id : 59445043285 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Google Play

Correct Marks : 1 Wrong Marks : 0.25
When for any atom in a molecule, an identical atom exists diametrically opposite this centre at an equal distance then the molecule has
Options :

1. # Plane of symmetry

2. ® Identity

3. ¥ Centre of symmetry

4. ® Symmetry axis

Question Number : 162 Question Id : 59445943285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS U Y] F 3t ORAT] & 7T, U THH ORA] 39 $% F AR THH g8 IR A g1 g o o H g5
Options :

1. % GHEA dd

2. % UgdMH

3. ¢ GHIAA BT g

4. % AP 3181

Question Number : 163 Question Id : 59445943286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When Electro-Magnetic radiation interacts with a single atom and molecule, its behaviour depends on the amount of
Options :

1. ®¥ Wavelength

2. % Wavenumber

3. # Electrons

4. ¥ Energy per quanta (photons)

Question Number : 163 Question Id : 59445943286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fagygd-gaeiy fafur Tdhel TRATY] 3R 31U] & WY URER fohdT Rl &, ) 3HHT FdeR B HAT R AR BR8]

Options :
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1. % qynged

2 % qQU.gE]

A

3. % galaeH
4. ¢ Sl Ufd SieT (Wier)

Question Number : 164 Question Id : 59445943287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For H2O molecule which statement holds true?
Options :

1. # It has no symmetry

»  Ithas C; symmetry element

;3w Ithas Cs symmetry element

4 w Itpossesses C;as well as C4 symmetry element

Question Number : 164 Question Id : 59445943287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
H,0 310] & forT e &1 #aa 77 82

Options :

|« $UH Y FAAST TG ¢
, v 3HH C, WATHTT de= ¢
, » $HHA C, WATATAT a7 ¢

, « FHH C, & Wy-ury C, WAfATGT a7 &
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Question Number : 165 Question Id : 59445P43288 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The red color of oxy-haemoglobin is mainly dueto
Options :

1. ¥ d-d transition

2. # Metal to ligand charge transfer

3. # Ligand to metal charge transfer

4 » Intraligand TI-TT* transition

Question Number : 165 Question Id : 59445943288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHTRT-EHrafe &1 are 31 Jed: & HRU BTG
Options :

1. ¢ d-d UREdA

2. % o1d ¥ foril's Smar RAFR

3. % forfis & U1 SMax IR

4. % ZeTfets [1-IT* URad

Question Number : 166 Question Id : 59445943289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Cerium can be separated from lanthanide mixture quite easily because
Options :

| % Ithas Ln3+ jon structure in aqueous solution

2. % Ttis inert in nature

5« Ithas Lnd+ structure in aqueous solution
4. # It has higher mass

Question Number : 166 Question Id : 59445943289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

A=ASS Yo J AiRaw &) et A e forar off YebdT § wife
Options :

1. % Sciy faeae H SUST Ln3+ 30 TET 8l §
2. % qEUPfa A fAfera g

3. « el faaa § 39T Lnd+ 30 TRAT 8l @
4. % TYD] GTHM P BT 2

Question Number : 167 Question Id : 59445943290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In reaction, 2Na;S;03 +I — A + 2Nal ; A will be
Options :

| % Na:5:0:. H:O

X4 NHES-I-DE
3 % Na:SOy

4. % Na:SOz

Question Number : 167 Question Id : 59445943290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HfAfHaT, 2Na,S,0; +l, — A + 2Nal H; A grem|
Options :

1% NEQSQO}HQO

2 NEQS;;OE,

3 % NEQSO,1
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A

4 NagSOq

Question Number : 168 Question Id : 59445943291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Ostwald process, NO is formed from catalytic oxidation of NHj3 to further produce nitric acid. The catalyst used in this process is
Options :

1. ¢ Pt/Rh catalyst

2. % Pt/Ni catalyst

3. % Pb/Pd catalyst

4. ¥ Ni/Pd catalyst

Question Number : 168 Question Id : 59445943291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hireares 9fFar &, AEfeF 3Fa F 39 s T F BT NH; F 3097 dedistor & NO saar &1 33 gisan
# 9 3T gl

Options :

1. ¥ Pt/Rh SER®

2. % PyNi IARD

3. % Pp/Pd IARD
4. % Ni/Pd SEH

Question Number : 169 Question Id : 59445943292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalyst used in Haber-Bosch process for making NHj is
Options :

1. % MnO,

) % FeS0O,
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3. % Promoted Fe

A

4 % Pt/PtO-

Question Number : 169 Question Id : 59445943292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
NH; &aret & fore grag-arer 9fehar # 9ged 301 gl

Options :
| ® Mn02

0 % FESD4

3 gHAReE Fe

, =« PHPLO,

Question Number : 170 Question Id : 59445943293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

HCTAUICH | Fe BT UTq BIel § SR SAIaCH GEIaR0l H B gl
Options :

1. % gHcifad

2. % FHeredl

3. % BRI

4.+ GIECIHH

Question Number : 170 Question Id : 59445943293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A metalloprotein have Fe central metal and functions in electron transfer is
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Options :

A

1. ¥ Haemoglobin

2. % Catalase
3. # Ferredoxin
4. % Cytochrome

Question Number : 171 Question Id : 59445943294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The structure of is based on a corrin ring with Cobalt as central metal atom.
Options :

1. ¥ Vitamin A

2. % Vitamin D

3. % Vitamin B,

4. # Vitamin E

Question Number : 171 Question Id : 59445943294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
B TR HIRA R R 3o gt & s Pialee S 4Td WA 8T 8
Options :
1. % faerfee A
2. % faefid D
3. ¢ fqeifi= B,

4. % fqeIffF E

Question Number : 172 Question Id : 59445943295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For Os3(CO)12, Nuclearity and M-M bonds respectively are
Options :

1.+33

2. % 32

3.% 13
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4. % 4]

A

Google Play

Question Number : 172 Question Id : 59445943295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Os3(CO);, & Torw, Arfdfimar 3k M-M 3meer saer ! gl
Options :
1.93.3
2. %32
3.% 1,3
4. % 4,1

Question Number : 173 Question Id : 59445943296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rhodium dimer [(Cp*Rh(CO)z):] has
Options :

1. % 4 bridging and 2 terminal groups

2. % 2 bridging and 4 terminal groups

3. % 2 bridging and 2 terminal groups

4. % Only 2 bridging groups

Question Number : 173 Question Id : 59445943296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UBTH SEAT [(Cp=Rh(CO),),] #  gar )
Options :

1. % 4 fofSiT 3R 2 efifa wg

2. % 2 fofSiT iR 4 cfifa v

3. ¢ 2 fafSfT 3R 2 efifqa wigg

4. % dad 2 fafshT wgg

Question Number : 174 Question Id : 59445943297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
When valence and conduction bands are separated with a small energy band

A

Google Play

gap Es< 1eV then they are classified as

Options :

1. ¥ Metals

2. % Insulators

3. ¥ Semi-conductors
4. ® Electrolyte

Question Number : 174 Question Id : 59445943297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I FASRAT AR Ie 95 F O FoAT 95 Halre E,<1eV § e R AT § ar 3. F wTH
Feffepa R =mar 21

Options :

1. % Yrgai

2. % faggaRiet

3. ¢ 3fefarde® yard

4. % Iaa\ga STUU

Question Number : 175 Question Id : 59445943298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Quantum confinement effect results in in nanoparticle of gold, platinum etc.
Options :

1. # Electric discharge

2. ¥ Magnetic dipole

3. #® Increased kinetic energy

4. ® Tnactivity

Question Number : 175 Question Id : 59445943298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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HicH HbIsTHE UHId & URUMGRY IH|, @ifeaH 3nfe & Aqieun A/ gargl

Options :

A

Google Play

1. % fagygd fadega

2. ¢ B fgya

3. % §¢l g3 TIfast Sl
4. % fafspgan

Question Number : 176 Question Id : 59445943299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Magnetic nanoparticle tends to behave as larger particle because of phenomena called
Options :

1. # Suspension

2. # Dispersion

3. # Dissociation

4. % Agglomeration

Question Number : 176 Question Id : 59445943299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ECCIREEIEA] A YREeT & HRU T8 HU b U H JdeR Hal g
Options :

1. % fedad

2. % fSTRH

3. % fagreH

4. SUTATHIRA

Question Number : 177 Question Id : 59445943300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fragment ions with lower energy than normal appearing at m/z ratio dependent of its own mass and the mass of original ion gives rise to
Options :

1. % Fragment peak

2. % Jon peak

3. ¥ Base peak
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4. ¥ Metastable peak

A

Google Play

Question Number : 177 Question Id : 59445943300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

30 W P FoqHM 3R Hd 3T & iAW AR m/z 3ud R foars 3 Imm=a | o1 Folf arel fags sm B! 3T B g
Options :

1. % rHE Uish

2. % 3 Ulp

3. % S Uid

4.+ HCRCEd Ulch

Question Number : 178 Question Id : 59445943301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hydrogenation of cyclohexene to form cyclohexane using Wilkinson's
catalyst [RhC1(PPh;)] is an example of

Options :

1. # Symmetric catalysis

2. ¥ Asymmetric catalysis

3. # Complexating reaction

4. ® Catalytic photolysis

Question Number : 178 Question Id : 59445943301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafesaer & 38T [RhCI(PPh;)] T 3991 s TEFclidads sl & 0T HSFaleFdd $ SEsi=lashIuT

T 3ETEIOT 2l
Options :
1. % gHHT IART
2. ¢ AT AR
3. % Sfed sififepar
4. % IIRD UHIRI-3(Tgc
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Question Number : 179 Question Id : 59445943302 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

d*or d'? metal complexes where non-bonding orbitals are either partially or
fully filled electronically favour which structure?

Options :

1. # Distorted Square planar

2. # Square planar

3. ® QOctahedral

4. ¥ Tetrahedral

Question Number : 179 Question Id : 59445943302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

d* ar d'° arg WEH AeT AA-aleseT Fam A A1 HEE T T A G TWE T Foaeias T TS o
& w7 &7

Options :

1. % fdpd o T (fSRics WRR W)

2. % I JUACHT (WPRR WIR)

3. % JYhaihy

4. IIWHADB (CLegA)

Question Number : 180 Question Id : 59445943303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The complex [RH(CO)(CI)(PPh;s)] has a structure.
Options :

1. # Tetrahedral

2. ¥ Square planar

3. # Distorted square planar

4. # Qctahedral
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Question Number : 180 Question Id : 59445P43303 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
TFe [RH(CO)(CI)(PPh)] #
Options :

1. % IJUPADIY (ST g

2. « I JHAET (WHTIR WIR)
3. % fqgd off qHd (fSlcs Wk W)
4. % ITHADY

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :
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5944591691
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Online
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5944591969
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Question Number : 181 Question Id : 59445P43304 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25
An organometallic enzyme is involved as a component of ribonucleotide reductases that convert ribonucleotide to deoxyribonucleotides. This co-enzyme is

Options :

1. ¥ Co-enzyme By,
2. % Co-enzyme E
3. ® Co-enzyme A
4. % Co-enzyme K

Question Number : 181 Question Id : 59445943304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T FHITdd UfdhUa IAgagfacalcrss Reaey & Uedh & U H M giaT & ol JZaYfFadierss & SiaiRIga-afaaderss & uRkafdd #rar gl
Te9sfevas g

Options :

1. + gg-Ufdbud Bi2
2. % gg-UfhUd E
3. % Tg-Ufdhud A
4. % ggYUfhua K

Question Number : 182 Question Id : 59445943305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An enzyme is responsible for

Options :

| » Enhancing E, for a reaction

) Lowering E, for a reaction

3. # Binding to the end product more tightly than the substrate

4. ¥ Deactivation of the reaction
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Question Number : 182 Question Id : 59445943305 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

U® Ufpug & fo SR B

Options :

|« JAfHRAT & T E, sger
, » AR & T E, A T
HeHee H1 goar # HAH 391 1 #AF A F &

4w HAEATHIT # WiEET ger

Question Number : 183 Question Id : 59445943306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An organometallic complex that is used as an anticancer drug that targets DNA to inhibit cell growth is called
Options :

1. # Salvarsan

2. ® Ferroquine

3. ¥ cis-Platin

4. # Chloroquine

Question Number : 183 Question Id : 59445943306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIEYTID DI o HER-EN aTl &b U T YINT a1 SI1ell & Ol PIRIDT Gl DI A B eI DNA I T BT § 38 CHISIGI
Options :

1. % Yeavad

2. % Ui

3. ¢ H-wifed

4. % FIRTBH
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Question Number : 184 Question Id : 594450943307 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

The closeness of obtained values to the true value is called
Options :

1. % Accuracy

2. ® Precision

3. # Error

4. #® Ruggedness

Question Number : 184 Question Id : 59445943307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Hedl &t aRafds Yoo o Fvedt o) HEI ST 3|
Options :

1. ¢ YTl

2. % URgd

3. % Ffe

4. % BRIl

Question Number : 185 Question Id : 59445943308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In thin-layer chromatography, the stationary phase used is
Options :

1. # Carbon

2. # Copper plate

3. ¥ Silica packed aluminium plate

4. # Glass beads

Question Number : 185 Question Id : 59445943308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tdell TRd quicRa |, ST fhar Sirar fRIR =RT gl
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Options :

1. % PHe

A

2. % JH DI TE
3. ¢ o U Tegfafad wie
4. % BT H ATD

Question Number : 186 Question Id : 59445943309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Water and 95% ethanol are most used solvent in UV-spectroscopy because

Options :

1. ® They are highly polar compounds

2. % They dissolve non-polar compounds
3. # They are H-bonded solvents

4. ¥ They are transparent in UV-spectrum

Question Number : 186 Question Id : 59445943309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
V-TFE RGBT B UHT TR 95% I BT Jad e IUANT fosa ST € a4ifes
Options :
1. % 3 i YA A &
2. % §IR-yd AIMTP! 1 Oied &
3. % 9 H-3M1eY faamae® §
4. ¥ JUv-WaeH § TR §

Question Number : 187 Question Id : 59445943310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
#7:6Kr — ¥3Kr is an example of
Options :

| % B-decay

, % O-decay
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A

1« Neutron-emission

4. % Positron emission

Question Number : 187 Question Id : 59445943310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

BeKr — ¥ Kr & 3SR 2
Options :
| x par

o w =818

v g IA-3cHT
OIS 3cHAT

Question Number : 188 Question Id : 59445943311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The minimum amount of fissionable material that can produce a self sustaining chain reaction is called
Options :

1. % Flux

2. # Innoculum

3. ¢ Critical mass

4. % Feed

Question Number : 188 Question Id : 59445943311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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et ATl &1 YAaH AET S SHTH- YRV SaaT SHfNfohar Iad &R Tad! 8, 39 HeT S ]

Options :

A

Google Play

1. % 3ffYdrg

2. % IHgH

3. ¢ Hifded gogdH
4. % BIS

Question Number : 189 Question Id : 59445943312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reactors which use UO; pellets enriched to 2.3% fuel, D;O as moderators
and water as coolant is called

Options :

1. # Fast breeder reactor

2. % Boiling water reactor

3. # Pressurised water reactor

4. ¥ Steam generating heavy water reactor

Question Number : 189 Question Id : 59445943312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rueer S 2.3% o & BT @Hg UO, 99T &1 390 #id §, D0 F AR & ¥ & 3T 9
w7 # 398 W §, 3@ el S gl

Options :

1. % 99 oo RUaex

2. % HYF I U

3. % grfad od Rudex

4. ¢ Y1 ITF B aTel HRI 5 RTaex

Question Number : 190 Question Id : 59445943313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The characteristic which is not usually regarded for green chemical compounds is
Options :
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1. % Preparation from renewable resources

A

2 _#® T ow tendencvy to undergo sudden violenk, unpredictable reaction
3. # Readily biodegradable
4. ¢ Extremely high stability

Question Number : 190 Question Id : 59445943313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Te faRwar ford SR TR &R Xrmafes A & fore 7et A ot &, 9 gl
Options :

1. % TPt e ¥ R

2. % AP, [§®, UG el T oA &1 &Y Ughi

3. % 3T Y §H dTell SiafieRur

4. 3HIfYed I AT

Question Number : 191 Question Id : 59445943314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Release of chemicals to the environment in US is tracked by
Options :

1. # Pollution prevention control board

2. % Toxics release inventory

3. % JUPAC

4. % [International Chemical Laboratory

Question Number : 191 Question Id : 59445943314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

US H TTier 0 & SIS 7T G Bl RIS fhar ST g |
Options :

1. % YguUT Farul A a8

2. ¢ e Refiot 3ded

3. % [UPAC

4. % RIS IHAFD TR
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Question Number : 192 Question Id : 59445943315 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

% yield of any reaction is given by

Options :

1. ¥ (Actual weight obtained/Theoretical weight) x100

2. # (Theoretical weight obtained/actual weight obtained) x 100

3. # [(Actual weight-Theoretical weight)/Theoretical weight] x 100
4. # [(Theoretical weight- Actual weight)/Theoretical weight] x 100

Question Number : 192 Question Id : 59445943315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot off sififman &1 9% Jae SR fear S g |
Options :

1. ¢ (U ardfaes HR/AGIAE HR) x100

2. % (T Jgifaes HR/MT IRdfde HR) x 100

3. % [(@Rdfa® YR-Vgifded HR)AGIAE HR] x 100

4. % [(Agifde YR- aRdfde HR)Agifae HR] x 100

Question Number : 193 Question Id : 59445943316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The stability order for carbocations are

Options :

| % Tertiary< secondary< primary<CH3

» % CHs< tertiary< primary< secondary
3« CHs<primary<secondary<tertiary

4 % Tertiary=CH;z;<secondary<primary
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Question Number : 193 Question Id : 59445P43316 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

BT P o fRRAT v H gl

Options :

. gargs<ATE RS <IrafAFH<CH;

1.

, » CHs< Fersp<araf@w< Areafas
 CHy<uraffm<areaffs<gdas

4 % FaEE<CHy<mreafasm<arafas

Question Number : 194 Question Id : 59445943317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Radical stabilization in free radicals is defined by
Options :

1. ¥ C-C bond enthalpy

2. ® C-H bond enthalpy

3. % C-H bond dissociation energy

4. ¥ C-C bond dissociation energy

Question Number : 194 Question Id : 59445943317 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o U H Yoteb RSB0 GRT R fpar mar g
Options :

1. % C-C &Y (@) gof Sear

2. % C-H 3§ (§18) IO1 SSAT

3. ¢ C-H 3M8Y (§-5) fawes Solf
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4. % C-C 3§y (drs) faged ot

A

Question Number : 195 Question Id : 59445943318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Example of homogenous catalysts used in homogenous hydrogenation is
Options :

1. # Finely dispersed Platinum

2. # Finely dispersed Rhodium

3. ¥ Complexes of Rhodium

4 % PtH;

Question Number : 195 Question Id : 59445943318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TREY BTSSR B Ugad e SARE HI IS0l o
Options :

1. % e foraRT g wifesH

2. % FRI® [T g3 RASaH

3. ¢ AT & AP

4 % PtofH,

Question Number : 196 Question Id : 59445943319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In epoxidation of E-2-butene, major product formed will be
Options :

1. ¥ cis-2,3-dimethyloxirane

2. ¥ trans-2,3-dimethyloxirane

3. # Racemic mixture of cis and trans-2,3-dimethyloxirane
4. # Not determinable


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaz2yy7

Question Number : 196 Question Id : 59445943319 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical

GET iT ON
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A

Correct Marks : 1 Wrong Marks : 0.25

E-2-§¢H & SRR H, Tdd T ST BT

Options :
1. % WN-2,3-Sursdiem-
2. ¥ Ti-2,3-STSHUEAlaaA

3. % O 3R TiY-2,3-SEAEaieR o1 Y g

4. % Fyffea gt

Question Number : 197 Question Id : 59445943320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

The major product of monobromination reaction of cycloalkene below is

c E—
Options :

BrH,C

X
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4. %

A
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Question Number : 197 Question Id : 59445943320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

A= fgT 7T ASeileshlal $I AlAGIAAL HAHAHAT HT THE 3c1E

NBS
c @

Options :

BrH,C

1.¢

Br

HjC

3. %

X
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HzC

A

Br

Question Number : 198 Question Id : 59445943321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an IR spectra of 1-octyne and 4-octyne, the IR-spectra of 4-octyne does not have C=C stretch
absorption peak. The reason for this observation 1s that

Options :

1. # Conjugation moves stretch to lower frequency

2. # 4-octyne reacts with KBr while 1-octyne does not

3. ¥ 4-octyne has symmetrically substituted triple bond while 1-octyne does not

4. % 4-octyne is inactive in IR range whereas 1-octyne is highly active

Question Number : 198 Question Id : 59445943321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

-3 3R 4-30FE0 & IR Vaer #H, 4-39 & IR-Fdacr # C=C &aa

JfaRiyor TH-Tdg 6T gl §1 39 3faciiehsl & HRUT T¢ ¢ (6 |

Options :

1. % W Rard & &4 gy 9 o SIar g

2. % 4.3{Tad19 KBr & T1Y UfAfshar Ha1 g SIafP 1-3MTac I el Bl g

3. ¢ 4-3{TadF 3 quftyd wu J feud se (@) o ufawnfd foar g Sefes 1-3ffada 3 78t fban 8
4. % 4.3 R 90t A FAfepy § Wafd 1-3ifedH srufds afra §

Question Number : 199 Question Id : 59445943322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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An IR-spectra is found to have a mecil m adsorption peak near 3400co!.

A

Options :

1. % Esters

2. % Aldehydes
3. % Alcohols
4. ¥ Amines

Question Number : 199 Question Id : 59445943322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR-F9=¢T & 3400cm” & UIH UH HeAH AT WA-[bg (W) 92 1 g1 98 e wefae diFe § 39 @ 2
Options :

1. % T

2. % UfcSETES

3. % 3fehlgd

4.+ THH

Question Number : 200 Question Id : 59445943323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In an 'H-NMR spectra three samples were examined. One being pure acetic
acid, other one pure water and a 1:1 mixture of acetic acid and water. The
number of peaks formed for each sample would be . ,

Options :

1. % 1,1,1 respectively
2. % 1,1,3 respectively
3. % 21,2 respectively
4. 1,1,2 respectively

Question Number : 200 Question Id : 59445943323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 1,1, 1 PHR:
2. % 1,1,3hHR:
3.% 2, 1,2 hHR:
4.+ 1,1,2 PHR:
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Question Number : 201 Question Id : 59445943324 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In nitration process, the reaction typically proceeds through a
Options :

1. ® Anionic intermediate

2. % Cationic intermediate

3. # Zwitterionic intermediate

4. # Free radical intermediate

Question Number : 201 Question Id : 59445943324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ArECIHRuT Ufehar H, Sififehar 3 AR R & HIEgH 31§l g
Options :

1. % T Aeadl

2. ¢ B T

3. % fogefae weadf

4. % o fSHa gEad

Question Number : 202 Question Id : 59445943325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Benzyl and allyl alcohols that can generate stabilise carbocations give

Friedel-Crafts alkylation products with mild lewis acid catalysts like
Sc(03SCFs)s. For reaction below, X will be

10% 5c{0505CF )3
X CHaOH + ——
{ 115-120"C}

Options :

00
1.v¥
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A

2%\

L x—{: :}—OH

Question Number : 202 Question Id : 59445943325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

dferer 3R TolleT Aodige Sl fEaT FrEfhe 3o ®C Hhd &, Thed-HIFCH TehlSalniUl ScaGT & god ofsd

HFA 35 A8 Sc(0:SCF3); 3 g1 = & oz sfdfear & forw, X GEN]
@ 10% 5c{0503CF3)3
ﬁ: :)— CHaOH +
{115 -120"c)
Options :

SO0
e

Question Number : 203 Question Id : 59445943326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

Friedel-Crafts alkylation is a very important method for introducing alkyl substituents on an aromatic ring by generation of a carbocation or related electrophilic
species. Most common Friedel-Crafts catalyst for preparative work is

Options :
1% TiCl;

7 # HaO2
3 % Ptn/H:

Question Number : 203 Question Id : 59445943326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP PHIa--G-1a 1 Yafd Saacithiere Uiiadl & Idie gRI RIS 1 IR Tebgd Ufawie &) 0% & & fofg Thed-hiey Tehgaiastl Uh
950 & Teayul AR ¥ 1 URMYE S1f % fIw 9 o Rrad- sty SaR® 2

Options :
| % TiCls

5 % H0;
5 % Pto/H,

4 v ACly

Question Number : 204 Question Id : 59445943327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diel's- Alder reaction is an example of with respect to both the alkene and the diene.
Options :
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1. ¥ Stereospecific syn

A

2. % Stereospecific anti

3. # Regioselective syn

4. ® Regioselective anti

Question Number : 204 Question Id : 59445943327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
STIT- TTSR SHTNIhaT TeapH SR S Gl & Taiy | &1 TP IaGUI 5|

Options :

1%?12?&@@1%%1%?

Question Number : 205 Question Id : 59445943328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

p-Aminobenzoic acid and Sulfanilamide, both molecules have similar steric and electronic properties but p-Aminobenzoic acid is demonstrated to have reversing
effect on the antibacterial action of sulfanilamide. This is because of

Options :

1. # Different physiochemical properties
2. % Different physiologic pH of action
3. # Different electronic properties

4. ¥ Different functional groups

Question Number : 205 Question Id : 59445943328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

p-THTEAISGISH 3 3R FehlIHaISs, Tl s # T Ridd 3R gaaei-e 10T 8Id &, At p-THRAISSIg® 3R BT b AHEs B
SharuRIE fbar IR Serer yHTE USaT 8 1 U8 b PRUS|
Options :

1. % faftye difaeRramafae Tor
2. % Wﬁ%ﬁﬁ-ﬁ%pH
3. % fafid saaeie or
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Question Number : 206 Question Id : 59445943329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Preparation of initial extract typically implements
Options :

1. # Non-polar solvents

2. % Polar solvents

3. ¥ Supercritical fluids

4. # Mixture of polar and non-polar solvent

Question Number : 206 Question Id : 59445943329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

RS 31h BT TR 3 IR W NVERGIC]
Options :

1. % R-ydig faams

2.« Ydig fadrs

3. % 3ffdspifded ga

4. % ¢[d1g SR TR-yd1g faamas &1 o

Question Number : 207 Question Id : 59445943330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Benzoic acid and Glycine reacts in presence of Acyl synthetase to give
Options :

1. % N-acetylprocainamide

2. ® Acylic acid

3. ¢ Hippuric acid

4. % Salicylic acid

Question Number : 207 Question Id : 59445943330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Solige 3 3R TaTsie YRS Ridey ot Juiufa # 1 & forw Sifiiforar a1 B

Options :

A

1. % T ORI avibHES
2. % Ulthlold 3

3. ¢ BgR® s
4. % AferRiferes st

Question Number : 208 Question Id : 59445943331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cholesterol lowering drugs are known as
Options :

1. # Alkaloids

2. # Quinones

3. ¥ Statins

4. # Anthraquinones

Question Number : 208 Question Id : 59445943331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FleReel B B aTeht el FEITAIR]
Options :

1. % Yehdils

2. % fH

3. ¢ ®fed

4. % I

Question Number : 209 Question Id : 59445943332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ethylene when reacts with a mixture of TiCls and (CH:CH;):Al as a catalyst
produces the same product as that obtained when reacted in presence of
oxygen or a peroxide at high pressure. But application of both these products
are different. What is the reason for this?
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Options :
Polyethvlene produced with TiCly|land (CH3CH3):Al as catalyst is much

A

|« higher in density than that produced by free radical polymerization

Polyethylene produced with TiCly and (CH3CH;):Al as catalyst have different
, % structure as compared to that produced by free radical polymerization

Polyethylene made from TiCls and (CH:CH;)sAl as catalyst is less dense than
; w that produced by free radical polymerization

Polyethylene made from free radical polymerization disintegrates whereas
4 % polyethylene from TiCls and (CH:CH;):Al as catalyst does not disintegrate

Question Number : 209 Question Id : 59445943332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

el 519 38 & &9 & TiCly 3T (CH,CH,):Al & f&rsor & g1y 33Ty sxar £ & 38 30918 309+ &3aT &
T 3= ¥ I AFHST A7 UUFHEE S IUEAtT # AR Fa W 9T 2iar g1 dfFa &7 g|T 3cmer &
HFANT 3TCIT-31619T g1 SHBI HIROT FAT 872

Options :

3RF & & A TiCly 3 (CH;CH,)3Al 3 BT Scatied IreNeiAelial T Helsh Fgelehlehiul ZaRT 3ca1ig
| T H T AF ©

2. %
36 & T A TiCly 3 (CHiCHy):Al & |1y Searfea Treiefeler # HY HoTeh agorehiantor GaRT Scaled & gefem
A 3oIeT HLEET 2T 2
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3. %

A

Google Play

IcE & & H TiCl, 3 (CH:OH,):Al & FaT dleileidelsl 1 Feleh ageiehiehiul JERI Icdlicd Sl ol H HH Hesl
grar 2
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|, fehefeler fufea =& @ &

Question Number : 210 Question Id : 59445943333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In polymerization process of Ethylene, it is heated at high pressure in presence of oxygen or a peroxide. This process is known as
Options :

1. % Cationic polymerization

2. % Anionic polymerization

3. # Coordination polymerization

4. ¥ Free radical polymerization

Question Number : 210 Question Id : 59445943333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR &1 S5 160l Ufthar H, 9 SHRiTH a1 IRIRTES &I SURfd & 3= a1d R T 361 Sirai 8 | 9 Ufshan & & =0 H T AT 6|
Options :

1. % B SgadIHRUl

2. % 3D TgABIDHRUI

3. % YH-qY IgD bRl

4. ¢ bl gD SgABIDHRUI

Question Number : 211 Question Id : 59445943334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The reagent used for oxidation of trans-4-t-butylcyclohexanol to 4-t-butylcyclohexanone is
Options :
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| % KMnOq4 in Acetone

A

> % CrOs in Acetone
3 % KMnO4 in alcohol

4« HaCnO;7 in Acetone

Question Number : 211 Question Id : 59445943334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T4 TSN SR  4-t- ST TS TR P TR & forg IuahT fopam S arer sifiere 2l

Options :

| % THER #& KMnO,
X 'ET-ﬁE’I?-I' ﬁ Cr03

» eFEeT # KMnO,
v GT-ﬁE;I?-I' ﬁ- HQCFQD‘}'

Question Number : 212 Question Id : 59445943335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The catalyst used for hydrogenation of Dicyclopentadiene to its tetrahydro product using a Parr apparatus is
Options :

1 PtO:/Ha


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Addaz2yy7

2 % AlO3/Rh

A

3 % Rh-Pd/C

4 % BaHs

Question Number : 212 Question Id : 59445943335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

URR T BT ITART B 30 CTIETRS! IdTE & ol SATSFaIeeH & gI3eIoHIdhRul & it IUANT fasar S ara ISRE gl

Options :
| » PtOs/H,

, % ALOJ/Rh
; % Rh-Pd/C

4 % BaHg

Question Number : 213 Question Id : 59445943336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

When an electron doner zinc porphyrin was covalently connected to Guanosine and an electron accepting Quinone was linked to the cytosine were irradiated with
light at an appropriate wavelength, electron transfer occurred from zinc porphyrin to Quinone. This demonstrated which property of supramolecule?

Options :

1. % Electrical connections can be achieved between molecular parts via non-covalent supramolecular interactions
2. % Dipole-Dipole moment is created between two metal centres

3. # Interconnected macromolecules in a supramolecule are weakly bonded

4. ® Physical property of a supramolecule change with respect to the nature of bonds created in it
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Question Number : 213 Question Id : 594450943336 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

ECENESERARIRSEE? Wﬁmwﬁﬂmﬁ?ﬁﬁﬁawwaﬁ?wqcm wmwm%?ﬁ?ﬁ?ﬂ%?‘ﬂ%ﬂ@mﬁawm U UGS a ¢
TR TS & A1 RO b mam o, e R & b & 3ordei RIFTARUI ol | 597 qUREIQad & g 701 1 Wi fram

Options :

1. ¢ RTINS QORI d TRERHAT & A1eW ¥ S0Ifde HIT & s faggd Judh ured faar o Tehar §
2. * fya-feya smyuf aF urg el & ffw Rifa g’

3. % U gIRHAIAHA H TRER IS I8¢ HHOR ®0 I §9 8l §

4. % TP YRUIGEA BT Hifads o1 I9H [ ereel @) &t upfa & dae § uRafdd gidar g

Question Number : 214 Question Id : 59445943337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In DNA, Guanine selectively interacts with Cytosine because
Options :

1. # Guanine does not form H-bond with Cytosine

2. # Guanine forms only one H-bond with Cytosine

3. # Guanine forms an ionic bond with Cytosine

4. ¥ Guanine forms more stable triple hydrogen bond with Cytosine

Question Number : 214 Question Id : 59445943337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DNA ¥, G- Tr2eiRF & 1Y gfHiar ©u 3 R fhar o3al § Fife
Options :

1. % TqF FEEIRM & Ty H-3MT6Y (d1+S) T8l §1d1 8

2. % M 2R & 1Y Had Th H-3MTeY (S15) I |

3. % M IR & 1Y U S ey (@s) §91a1 8

4.« G AIIRA & 1Y 31w fRR eud g12gIoM o1eiY (8fs) ST 8

Question Number : 215 Question Id : 59445943338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The binding of oxygen molecules of ayp;- heterotetrameric haemoglobin is an

A

example of

Options :

1. % Intermolecular Cooperativity
2. ® Intramolecular Cooperativity
3. # Interannular Cooperativity

4. # Chelate Cooperativity

Question Number : 215 Question Id : 59445943338 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

By~ FENTANF AT & A HUpT 7 e T 3STgTuT|
Options :

1. ¢ SR-3ATUTTdd TgHhTRal

2. % 3id:3UIfdd JghIiedl

3. % SfRMTY GebIRdm

4. % T GBI

Question Number : 216 Question Id : 59445943339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Biosynthetic pathway leading to terpenes and steroids are

Options :

1. # Acetate pathway

2. # Photosynthesis

3. # Amino acid pathway

4. ¥ Mevalonate pathway and methyltrythritol phosphate pathway

Question Number : 216 Question Id : 59445943339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

UM SR WIS B 3R & S el Slag ey ANl gl

Options :

1. # gdide Urid
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2. % YHIR-TRAYO]
3. % 3{HiHI uRIs uryd

A

4. ¢ YddHe UTYd 3R rEadifRieia widhe uryd

Question Number : 217 Question Id : 59445943340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

An alkaloid containing an indole core and produced in living organism from the amino acid tryptophanis
Options :

1. % Quinine

2. #® Ephedrine

3. % Piperine

4. % Bufotenin

Question Number : 217 Question Id : 59445943340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUSIA HR o TehdlTS 3R ST 33t fepith | sifad St & Iare gl g, a8 g
Options :

1. % G

2. % g

3. % UIURA

4. ¢ Wi

Question Number : 218 Question Id : 59445943341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A terpenoid well known for its analgesic properties and responsible for the well known cooling sensation when eaten or applied to the skin, is produced by an
asymmetric synthesis. The process begins by forming an allylic amine from myrcene which undergoes asymmetric isomerization in the presence of a Rhodium
complex to give enantiomerically pure R-citronellal and finally cyclised by a carbonyl-ene-reaction initiated by ZnBr2 to isopulegol which is then hydrogenated
to give the pure terpenoid. The terpenoid is

Options :

1. % Camphor
2. % Menthol
3. ® Citral
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4. ¥ Limonene

A

Question Number : 218 Question Id : 59445943341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T OIS S 3T TTeaIf e 07 & o Ui § iR STe S8 W11 31 & R I STl § ot Ui Xfaer Tder & for fomieR B, te Srmfia
H=eror gRT A g & | dfohar AR 9 wfafere T 99 9 Y& Bl & Sl U Aiead Ud o SuRdfd & Srfid garedad § Rl ¢ i
TISIARG A Yt R-FFGAAN < T AR 3 T ZnBr2 GRTYE B 7T BIs-al-T1-3ifHfeham gRT Sreaigeriicr w1 afehd fovam S & o o1e 3 gt
RS P F R srS o IPd a1 o 31 ROTES gl

Options :

1. % PR

2. ¥ ORI

3. % fyga

4. % o=

Question Number : 219 Question Id : 59445943342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Structure isoelectronic with naphthalene is
Options :

1. % Furan

2. % Pyrrole

3. ® Imidazole

4. % Benzimidazole

Question Number : 219 Question Id : 59445943342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATl 91y gHS e ) G gl
Options :

1% T

2. % UIRIA

3. % gfHemia

4. ¢ Sffre™ia
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Question Number : 220 Question Id : 59445943343 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Furan has I1 e- plus an unshared pair of oxygen sp2 orbital.

Options :
1. %2
2. % 4
3.6
4. % 8

Question Number : 220 Question Id : 59445943343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A I e-Sord =T 3TFEIST sp2 Faflw i afFaniea A g

Options :

1. %2

2. % 4

3.6

4. % 8
Discipline7

Group Number : 12

Group Id : 594459968

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Discipline?

Section Id : 5944591693
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Google Play

Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591971
Question Shuffling Allowed : Yes

Question Number : 221 Question Id : 59445943344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the two statements given below, analyse for the following:

a) Pyridine and Pyrrole both are weak bases, but pyridine is much more basic than pyrrole.
b) Lone pair associated with nitrogen in Pyridine is entirely with nitrogen and not delocalised into the aromatic I1 system, whereas in Pyrrole unshared pair
belonging to nitrogen must be added to the 411 e- of 2 double bonds and thus is delocalised into the aromatic I1 system.

Options :

1. # Only a) is true

2. % Only b) is true

3. % Both a) and b) are true and b) is the correct explanation of a)

4. ® Both a) and b) are true but b) is not the correct explanation of a)

Question Number : 221 Question Id : 59445943344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jr BT 71T g wuat & v, Teafa@g & B ey &

a) AfE 3T 9w 2=t & gee ot §, afes R aeie ﬁgwmﬁ‘ﬁgﬁ'mﬂﬁsﬁ'%l

b) RET 7 AES ¥ J3T Hhel ST T @ F AR & Ty giar § 3 ARF 0 a9 A
TAAIFT FET 81T §, Tl TR H Afeiad ¥ Faag Jasniag e &7 2 59 JFY (Fes) F 411
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Options :
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1. % Pad a) T T

A

Google Play
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3. ¢ 2) 3R b) T T § 3R b), 2) P! Tg! AR &
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Question Number : 222 Question Id : 59445943345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Maltose, which is obtained by hydrolysis of starch and cellobiose are
Options :

1. # Monosaccharide

2. ¥ Disaccharide

3. ® Polysaccharide

4. ¥ Sugar

Question Number : 222 Question Id : 59445943345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT, St T 3R Yeararel & St fa=eyor gRT UTwd fa S &, gl
Options :

1. % THSRIDRT

2. ¥ SRUINES

3. % GERIDH

4. % BT

Question Number : 223 Question Id : 59445943346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
An enzyme X facilitates digestion of lactose and a deficiency of this enzyme makes it difficult to digest lactose causing abdominal discomfort. Enzyme X is

Options :
1. ¥ Sucrose
2. ® Cellobiose

;3 % O-glucosidase
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4  P- glucosidase

A

Question Number : 223 Question Id : 59445943346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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|

Options :

4.\;4,3-:?@@%:;

Question Number : 224 Question Id : 59445943347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound X is a thiol; its chain terminates in a (-SH) group. Acetylation of the sulthydryl group of compound X gives acetyl coenzyme of Compound X.
Compound Xis

Options :

1. % Acetyl ester

2. ¥ Coenzyme A
3. #® Carbohydrate
4. ® Fatty acid

Question Number : 224 Question Id : 59445943347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Qe X A B; 39! 4aT (-SH) THE | THT Bt 81 A% X & Tehelzald Uqg & URIfeaieul § D X BT URIeRd Jeuidhud U gidl g |
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Options :

A

Google Play

1. % TRICTSd 3%
2.« TgUfhUg A
3. % FHECRIC

4. ® 941 I

Question Number : 225 Question Id : 59445943348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Anion exchange chromatographic methods at high pH (>12) with sodium hydroxide or sodium hydroxide / sodium acetate solution as mobile phase is applied
usually for

Options :

1. ® Anions

2. ® Sugar

3. # Proteins

4. % Carbohydrates

Question Number : 225 Question Id : 59445943348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

AifzTw gEsieass o Aiftgw gesieaes /[ Ao vdee o & @ =7 pH (>12) 9T wmonad
faaT auoes fRAfadr & Ase W F 9 F HHIK W/ & o =my o s g
Options :

1. % BT

2. % R

3. % UidH

4. & BrelgIRGC

Question Number : 226 Question Id : 59445943349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Analyse the below statements tor the van-Deemter equation, I) HETP = A +
Bu + C/u. II) Keeping a tubing system of =0.12 mm internal diameter is ideal.
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Options :

A

1. # Both I) and II) are true and I) is the correct explanation of II).

Google Play

2. % Both I) and II) are true, But I) is not the correct explanation of II)
3. % Only I) is true
4. ¥ Only II) is true

Question Number : 226 Question Id : 59445943349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-8 AT & o A9 fRT v Fuat v fSeswor #, 1) HETP = A + Bu + C/ul 1) 20.12 mm A9
= T egfee faved e e g

Options :

1. % 1) 3R 11 gH) TA g 3R 1), 1) P I8! AR B |

2. % 1) 3R 1) SFI I §, QB 1), 11) Pt T&t RS 181 ©
3.% HId ) TA G

4. ¥ HIA ) I

Question Number : 227 Question Id : 59445943350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a separation technique, the choice of solvent for separation is n-hexane mixed with isopropanol running over silica packed column. This technique is

Options :

1. # Column chromatography

2. % Normal phase liquid chromatography
3. ® Reverse phase liquid chromatography
4. # Jon-exchange chromatography

Question Number : 227 Question Id : 59445943350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TUFHUT T H, JUFOT F OT Fews F BEeT n-dewua A e 9% sew W Te w®
a1y A 3 a7 I gl
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Options :
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A
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4. % IM-fAf T quickaT

Question Number : 228 Question Id : 59445943351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The normalised wavefunction for the lowest energy electron of a carbon
nanotube of length L can be described as (2/L)!2 sin (ITx/L). What is the
probability of finding an electron between x=L/4 and x=L/2?

Options :

1. % 50%

2. % 100%

3. % 50.20%

4. % 41%

Question Number : 228 Question Id : 59445943351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
oS L & Fe Adicgd & TIH HH Fell oigeld & o0 AHAGd aweT f&har &t (2/L)" sin (/L) & & &
IO fomam ST H@aT 81 x= L/4 3T x=L/2 & €I Soledid fHels T Fifdesar & 22

Options :

1. % 50%

2. % 100%
3. % 50.20%
4. % 41%

Question Number : 229 Question Id : 59445943352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The probability of system A having engrgy range of E to E+6E is written as

A

Options :
| ® P(E)=C O(E) Q(EY)

5 » P(E)=C Q(E) Q(E- E)
; % P(E)=CQ(E) /Q(E)

4 % P(E) C Q(E) /Q(E"E)

Question Number : 229 Question Id : 59445943352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

E & E+6E g% & F=r IS e a5 A & gifdswar F ¥ 7 o = 2

Options :
| = P(E)= C Q(E) 0'(E")

, » P(E)= C Q(E) 2'(E™- E)
, » P(E)= C Q(E) /Q(E")

, % P(E)= C Q(E) /Q'(E*-E)

Question Number : 230 Question Id : 59445943353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which one holds true for an irreversible process?
Options :
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| o 220

A

) % Q>0
3 % =0k

4. % =0

Question Number : 230 Question Id : 59445943353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
B T SURGA- UfohaT & forg I 52
Options :

1 v 220

5w Q=0
3w Q=0

4 % 070

Question Number : 231 Question Id : 59445943354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 2 systems A and A' having initial energies E; and E;' respectively are
thermally related and are subsequently placed in thermal contact by attaining
respective final energies E£ and E#', following a special case where initial
energies lie very close to the final mean energies, which one holds true?
Options :

1.¥Q+Q=0

2.% Q' +Q>0
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3.%8Q-Q'=0
4.% Q-Q=0

A

Question Number : 231 Question Id : 59445943354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g 2 5 A AR A' & FHw IRiEs 3= E 3R E' S Fw ¥ § weg § dR a9 &
wafdg AfaH F B A EP, wred o o 5% & W@ o €, B e # oaegwror
FT, @ IREHF Fr dfaA dwa F1 F 5ga FA9 @ 8, BT o TA 22

Options :
Ly Q@+Q=0

,x Q@ +Q>0
;2 Q-Q@ =0

in@-0=040

Question Number : 232 Question Id : 59445943355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Pt|X;|X- corresponds to which type of electrode?
Options :

1. ¥ Metal/metal ion

2. % Metal/insoluble salt

3. ¥ Calomel

4. ¥ Gas

Question Number : 232 Question Id : 59445943355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

PtX,| X 758 9K & Zoiadis ¥ Ao TTam &7
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Options :
1% Td/AUTg I

A

2. % YT/SgaRiTe dqul
3. % Hamd
4. 0g

Question Number : 233 Question Id : 59445943356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement is true for electrochemical series?
Options :
(Ag*/Ag) is the more strongly reducing as compared to (Zn**/Zn) and (Ca?*/Ca)
| % Isleast reducing
(Ag*/Ag) is the less strongly reducing as compared to (Zn?"/Zn) and (Ca?"/Ca) is
»  ost reducing

(Zn**/Zn) is more strongly reducing than (Ca?*/Ca) and (Ag~/Ag) is most
; % strongly reducing

4. # All redox couples have similar reducing ability

Question Number : 233 Question Id : 59445943356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 1 B faggaram-e Joft & fog 9 82

Options :

|« (Ag'Ag), (Zn*'/Zn) # e H HOF gaer W=TF ¥ AR (Ca’’/Ca) W FH IH=TF ¢

, o (Ag'IAg), (Zn*/Zn) Fr T H FH FaA FTAAS g AR (Ca’’/Ca) 37fOF FaaT TS &

- (Zn*'/Zn),(Ca’"/Ca) &I Joar # 30 g o= g 3R (Ag'/Ag) W8 T 3I=r
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Question Number : 234 Question Id : 59445943357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Michaelis-Menten equation for macromolecular crowding is given by
Options :

|« V0= Vmax [So]Kart [So]
5 % Vo= Vmax [So]Kar- [So]

3 % Vma— Vo [So]Kart [So]

4 % Vmax— VO [So]Ka- [So]

Question Number : 234 Question Id : 59445943357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ah RIS IS P [T IS ICT-He FHH0l gR1 e M g
Options :

1. % Vo= Vinax [SD]KM+ [SD]

5 % Vo= Vmax [So]lKu- [So]

3 % Vmex™ Vo [So]Kut [So]

Vo [SolKu- [So]

Question Number : 235 Question Id : 59445943358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

When macromolecular crowding increases, the chemical potential of protein
Options :

1. ¥ Increases

2. # Decreases

3. # Remains unchanged

4. ® Initially increases then decreases

Question Number : 235 Question Id : 59445943358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

O B HIATIER PSS o6 Sl 8, AN P b adar Bl
Options :

1. ¢ §gdl

2. % gedt

3. % 3ufafda et

4. % Ugd ggdl ¢ bR ged!

Question Number : 236 Question Id : 59445943359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For a molecule, molecular ion peak appears at m/Z = 102, IR spectrum shows a
strong adsorption at 1740 em-!, 1200 cmr! and around 3000 cm-!. Index of
hydrogen deficiency = 1 and 1*C NMR spectrum has a total of 5 peaks What is
the molecule?

Options :

1 CH:;-CH:-CO-0O-CH>-CHj3

) % CH:-CH:-CO-CH»-CH;
3 % CH;-CHO-CH;-CH;

4. % CH;-CH:;-CH;-CHj
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Question Number : 236 Question Id : 59445943359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T HU] & T, HUEe U 9% m/iZ = 102 T W @ar 2, IR TeEA 1740 cm’
1200 cm 3R cm’ W TH Fegd HIORNEOT @A g1 RS wgAar & g =
3#R °C NMR ®eeq & $of 5 0 & 370] 7 27

Options :
| & CH3-CH,-CO-O-CH,-CH;

, % CHy-CH,-CO-CH,-CH;
5 % CH3-CHO-CH,-CHs

4 % CH3-CH,-CH,-CH;

Question Number : 237 Question Id : 59445943360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TMS is a universally preferred NMR reference because
Options :

1. # It contains silicon

2. # It is a non-polar structure

3. ® The carbon is more asymmetric

4. % The protons are better shielded

Question Number : 237 Question Id : 59445943360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TMS FTGHIH® ¥0 F THEaT NMR e § Fifh

Options :
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1. % sgi R gare
0 % g IR-YG WA &

A

Google Play

3. % P AYB SFHTT §
4. ¢ YieH ek NP T uRRfea glad &

Question Number : 238 Question Id : 59445943361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

XRD peaks are produced by of a monochromatic beams of X-rays scattered at a specific angles from each set of lattice planes in a sample.
Options :

1. #® Destructive interference

2. ¥ Constructive interference

3. # Diffraction

4. ® Absorption

Question Number : 238 Question Id : 59445943361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

XRD Ui Ue T § STee THdd & Tdd Ig o ARy v uR o gu X-fhvull & uhaull §i9 & grr fAffa g |l
Options :

1. % Yldeh ATl

2. ¢ FfUreRY SfasmRor

3. % faada

4. % 3TN

Question Number : 239 Question Id : 59445943362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to Onsager symmetry postulate,
Options :

| 01y/8Xq = 81g/0X,

, % 848X, =8lo/8Xq
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s % 01o/0ly=8Xq/0X,

A

4« 01/8Xq=1

Question Number : 239 Question Id : 59445943362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
STAFR THEYT YR & 4R,
Options :

o 00X = 8Ja/0X,

, w 8J4/8X, = 8Jo/8Xq
, « 8Jafddy = Xo/BX,
4 8J/8Xq = 1

Question Number : 240 Question Id : 59445943363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The time scale of particle motion using the particle relaxation time is defined as
Options :

v WP
2. ® = mx[}

3 % Tp= GOT(m=p)

4. ® = Emﬁ
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Question Number : 240 Question Id : 59445943363 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

HU fa9TH IO 1 ST HRd §U DU T & THY TR DI

Options :
.= m/
.« F ?
2 % T~ MXP
s % Tp= O/ET(mxp)
4% BT 2mp
Group Number :
Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

F =0 H gRyIivd fear man g

Discipline8

13
594459969
0

0

No

No

0

20

No

Discipline8

5944591694
1

Online
Mandatory
20



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

GET iT ON

Google Play

Addaz2yy7

A

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5944591972
Question Shuffling Allowed : Yes

Question Number : 241 Question Id : 59445943364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Lewis number is the ratio of .

Options :

1. # Molecular diffusivity of momentum to molecular diffusivity of heat
2. % Molecular diffusivity of momentum to molecular diffusivity of mass
3. ¥ Molecular diffusivity of heat to molecular diffusivity of mass

4. # Molecular diffusivity of mass to molecular diffusivity of momentum

Question Number : 241 Question Id : 59445943364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25
@EUEST HIU g
Options :

1. % ST DI 30D faRoRfiedr & forg Tav &I siiftas faaRuRiadr

2. % GO & 3MUIfdeh fARURNEdr & forg a1 ot 3uifde faeRurfiedr
3. ¢ GO & 3UIfdd [URURNAd! o ot ST & 3fTuifde faaRu=iadn
4. % AT & 3MUIfdeh faTRuRiddr & fo geaH™ P sulfad [AuRuRaar

Question Number : 242 Question Id : 59445943365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

At a certain wavelength, the fluorescence quantum yield and observed
fluorescence lifetime of Tryptophan in water are ©r= 0.20 and 1y = 2.6 ns
respectively. Rate constant will be equal to

Options :

1. % 0.52 % 1075l
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H o 7.7 %107 5!

3 % 13x10°s1

4 % 0.52 % 1071

Question Number : 242 Question Id : 59445943365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

v AfRag aEdsd w, o= # fretha i gfdia saes 39 3R sesa e o g shaaser A
®r= 0.20 31T 1p = 2.6 ns ¥ T 2R % ST Frem

Options :

| % 052 x 107 s

» w 7.7 x 107 s~
5 % 13 x 107 g7

4 % 0.52 x 107 s

Question Number : 243 Question Id : 59445943366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Electron energy transfer for an excimer formation is correctly shown as
Options :

1. % S¥+S— 35+ 5*

) % B¥+ 5% >5+8
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3 ®% S*-85—S5-8*

A

4 o S*8 —(SS)*

Question Number : 243 Question Id : 59445943366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TGRSR 713 & T seiaei= Solf g&dicRul &) $ =T g ¢ A e m g
Options :

1% S+ + 55 S + S

)% S+ O 8+ 5
3 % S%-5 — 5 - S#

4 S*+3 — (SS5)#

Question Number : 244 Question Id : 59445943367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

State whether true or false: 'The entropy of an isolated system tends to decrease with time.'
Options :

1. % True

2. ¥ False

3. # True Only at time ~ 0

4 % False 'Only at time t=oo

Question Number : 244 Question Id : 59445943367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ fob o1 I § 1 7T9d: T faaiid dF &1 TeTdl WG o 1Y "ed! St g |
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Options :
1. ® g

A

2. I
3. % Jg Hhad AT ~ 0 TR

4 % HET 'FIT TATt = 0 W

Question Number : 245 Question Id : 59445943368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

For the statements below, analyse the options given:
a) Ab initio calculations are relatively slow.
b) Ab initio calculations are based on Schrédinger equation.

Options :

1. % Both a) and b) are true and b) is the correct explanation of a)

2. ¥ Both a) and b) are true but b) is not the correct explanation of a)
3. ® Only a) is true

4. % Only b) is true

Question Number : 245 Question Id : 59445943368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I feu U wyAT & forg, fau e fasw et &1 fazawur &3

a) URNS UMY 3egrd <fieft B
b) TR TUAT SETR Tefiepor uR e g1

Options :

1. % ) 3R b) T JA 8 3R b), a) P! Ta| AR §

2. ¥ a) 3R b) Tl T § TG b), a) B! Ta! ARAT T8 &
3. % Hada) JI g

4. % HIdb) Id 8

Question Number : 246 Question Id : 59445943369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The best STO-IG approximation to hydqrogen and helium respectively are: ®(H) = ®; = 0.396 exp(-

A

0.4166/r-R12); ®(He) =d, = 0.5881 exp( -0.7739|r-Ra?). The larger constant in the Helium expofent as
compared to that of hydrogen is because of i

Options :

1. % Higher size of Helium

2. #® High atomic number of Helium as compared to Hydrogen

3. % In Helium, electron is bound more tightly to its double charged nucleus than in Hydrogen

4. # In Hydrogen, the stability of its molecule is lower than that of Helium

Question Number : 246 Question Id : 59445943369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

grEsea T e & T 98 =01 STO-IG Oiedasea HA: ©(H) = &, = 0.396 exp(-0.4166|r-R:|?) ; ®(He)
=@, = 0.5881 exp( -0.7739|r-R,|*) & | g$S=1aA &I golal H fgforas araies & asr s & FHRUT
Options :

1. % fgferod &1 3= STBR

2. % gISSioH ®I qaH1 4 ey o1 S TRy e

3. ¢ Rforam O, 3dae gigsior & ga-T | U SIex SMTAfRId AN § 31fid Hofeed! § §U1 8id1 §

4. % gIgSIoM H, 3% 310] Pt fRRa feferam &t ga1 & w7 gt 8

Question Number : 247 Question Id : 59445943370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Analyse the below statements:

a) AMI and PM3 C-H bond lengths are almost always (AMI) or tend to be (PM3) longer than experimental by
approximately 0.004-0.025 (AMI) or (0.002 A(PM3).

b) Of AMI and PM3 neither has a clear advantage over the other in predicting geometry.

Options :
1. % Both a) and b) are true and b) explains a)
2. ® Both a) and b) are false
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3. % Only a) is true
4. % Only b) is true

A

Google Play

Question Number : 247 Question Id : 59445943370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I BT 77T Fuat Fr freewuT S

a)AMIa-ﬁTF’MSCHmET ) & FTETS T gHAT (AMI) B & T TAETeHF W S9TsET 0.004-
0.025 (AMI) 7 (0.002 A (PM3) q?r 3feeR (PM3) =T 2T 2

b) safafy & qa-H=ar & # 7 AMI &7 3R 7 & PM3 & TF gF T TIC &1 ¢

Options :

1.La)3ﬁTb)ﬁ:ﬁw%SﬁTb),a)aﬂWW%

2. % ) 3R b) TFI 3T &

3. WW&)W%

4. % Hadb) Id 8

Question Number : 248 Question Id : 59445943371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A particle in a box possesses an irremovable minimum energy called the
Options :

1. # Transition-state energy

2. # Barrier energy

3. # Transmission energy

4. ¥ Zero-point energy

Question Number : 248 Question Id : 59445943371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS S H FRyd w01 § Wt gaay St gt § ol FHET ST gl
Options :

1. % ORad-3a=IT Soll
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2. % FIUT Sl
3% RO Holl

A

4. ¢ A-eig Sl

Question Number : 249 Question Id : 59445943372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instantaneous rate of consumption of a reactant formation of a product is the slope of tangent to the graph of
Options :

|« Blvst

) % tvs |J|
3 % Hiitvst
4. % _Jyst

Question Number : 249 Question Id : 59445943372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol IaTe & 3RS AT Bt @Ud B drebierd &3 P U &b TIRGT BT ¢ 2|
Options :

L Mlvst

, w tvs [J

5 x Wt vs t

4 % -J vs t

Question Number : 250 Question Id : 59445943373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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For a reaction with rate law V= k; [A][B]?, if reactant [A] is present in large

A

Google Play

constant throughout the reaction then the
order of the reaction will be

Options :

1. ® First order reaction

2. % Second order reaction

3. # Pseudo-first order reaction

4. ¥ Pseudo-second order reaction

Question Number : 250 Question Id : 59445943373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

X o\ & Wy s AW V= k [A]B] F o, aft #fers A ggar & wm s A Aigg @k
HiATHT & SR &R gar & ar i@k & e gram|

Options :

1. % YR pife siffchar

2. % fgdgeife siffean

3. % gSI-uyH hife S
4. ¢ geI-fgda i sifwfsar

Question Number : 251 Question Id : 59445943374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T IRy AT HUT SETTT 8.3 pD & EoyEid 8707 &l 9Iod adet & foare qad &9 § fagpe g s
g1 U] & TEA Bl

Options :

1. % CO;,
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A

. SiH,

Question Number : 251 Question Id : 59445943374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A spherical rotor molecule becomes sufficiently distorted for it to acquire a
dipole moment of about 8.3 uD. Identify the molecule.

Options :

. % CO

> % CHs
3 # CeHs

Question Number : 252 Question Id : 59445943375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radiation of wavelength 280 nm passed through 1.0 mm of a solution that contained aqueous solution of the amino acid tryptophan at a molar concentration of
0.50 mmoldm-3. The intensity is reduced to 54% of its initial value. The absorbance and molar coefficient will be

Options :
| % 0.54,5.4 x10? dm’mol'mm-!
) o 027,54x 102 dm’mol-!mm-!

3 % 1,27 %102 do’mol-!mmr?

4 % 0.36,54x 102 dm’mol-'mm-!
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Question Number : 252 Question Id : 59445943375 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T <& 280 nm BT fATHROT, fATTT & 1.0 mm 2 B1hR ToRaT & FoRH 0.50 mmoldm-3 P AIER Tigdl UR ST 3 DIt &1 STeitg faaaH giar g
<fodT BT 3 URMNS T & 54% A SO T ST § | Sa=IyoT 3R HieR oTid B

Options :
| % 0.54, 5.4 x 10> dm’mol ' mm’

, « 0.27, 5.4 x 10° dm’mol'mm’’
s % 1, 27 x 10 dm’mol ' mm’’

, » 0.36, 5.4 x 10* dm’mol’'mm’

Question Number : 253 Question Id : 59445943376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cubic unit cell has pointing to the corners of a tetrahedron.
Options :

1. # 3 threefold axes
2. ¥ 4 threefold axes
3. # 1 twofold axes

4. % 2 threefold axes

Question Number : 253 Question Id : 59445943376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH T gfe da B 8 S IhAD! & Bl B 3R SURT AT 3|

Options :

1. % 3 fipice TR
2. ¢ 4 fhics TR
3. % | Thice TR
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4. % 2 dfipics TR
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Question Number : 254 Question Id : 59445943377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Separation of {123} and {246} planes of an orthorhombic unit cell with a = 0.82 nm, b = 0.94 nm and ¢ = 0.75 nm are and
Options :

1. % 0.11 nm ; 0.21 nm respectively
2.+ 0.21 nm ; 0.11 nm respectively
3. % 0.21 nm ; 0.21 nm respectively
4. % (0.11 nm ; 0.11 nm respectively

Question Number : 254 Question Id : 59445943377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A = 0.82nm, b = 0.94nm 3 ¢ = 0.75nm F FHAGHT TfAC F F {123} 3T {246} Tagl
JereFRTUT, 3k gl

Options :

1. % PHT: 0.11 nm ; 0.21 nm
2. % HHR:0.21 nm ; 0.11 nm
3. % HHR:0.21 nm ; 0.21 nm
4. % HHR:0.11 nm; 0.11 nm

Question Number : 255 Question Id : 59445943378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement about Miller notation is/are true?

a) Negative indices are written with a bar over the number.
b) The notation (hkl) denotes parallel planes with identical spacing

Options :

1. % Only a) is true

2. % Only b) is true

3. # Both a) and b) are true
4. ® Both a) and b) are false
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Question Number : 255 Question Id : 59445943378 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

foreR Tpd & IR H DIH T HYT I 2/8?

a) FUEHD YIB! D! TS & SR T dR & 1Y forar srar g1
b) 3fBT (hkl) THM 3R T GHMIR Tdg B STl §

Options :

1&%@&)%%

2. % Had b) I §

3. % 2) 3R b) A A B

4. % ) 3R b) T A B

Question Number : 256 Question Id : 59445943379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
A macromolecule chain with N =100 and 1 = 150 ppm is in three dimension. The probability that the ends will be found in 10.0 pm at 3.00 nm distance will be

Options :
1. % 1.92x10%
2.4 1.92x103
3.% 1.9
4. % 192 %107

Question Number : 256 Question Id : 59445943379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

N =100 3R L = 150 ppm & TTY T J&U] 4l i i & g1 T8 Wfiiesdr {5 RR 10.0 pm TR 3.00 nm g TR i, =l

Options :
L% 1.92 x 10™

» v 1.92 x 107

;% 1.92
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A

) 192 x 107
=.

Question Number : 257 Question Id : 59445943380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The probability distribution for a 3D random coil is given by
Options :

1. ¢ f{r)= 4I1(a/II'2)? rlesT
) x f()= 4TI@/ID)? Pe=
3 % HO=( 2TIN)2ew2N

4 % fO=(2TIN)e™ N

Question Number : 257 Question Id : 59445943380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

3D YSH HTA & fore FyTeTan faaror G faaT S g |
Options :

| f(n= 4n@m'?? Pe

, w f(r)= 4ll(a/Mm)® rfe”"

3w f(r)=( 2/MN)"Ze™™

4w f()=( 2mN)e™™
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Question Number : 258 Question Id : 59445943381 Question Type : MCQ Option Shuffling : Yes Is Questijn Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sample of mixture of molecules with various chain lengths and molar mases constitute
Options :

1. ¥ Polydisperse polymer

2. # Monodisperse polymer

3. % Peptide

4. ® Protein

Question Number : 258 Question Id : 59445943381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafa sRaa daTs SR HIeR S| ard Uit o fH0r &7 T T CARIR G
Options :

1. ¢ Ureifsay uffermR
2. % Afewd uifer R
3. % UPISS
4. % Ui

Question Number : 259 Question Id : 59445943382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

If pure ribosomal preparation from E-coli is sedimented at a high Mg>*
concentration, the preparation sediments gives

Options :

1. # 2 peaks of 30s and 50 s enclosing more area

2. % 3 peaks at 70s, 50 s and 30 s

3.9 | peak at 70 s

4. ® No peak at all

Question Number : 259 Question Id : 59445943382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ot E-rel ¥ & TsararHeT I 3= Mg®" Higar W 3aarfed f&ar AT €, ar 9w fFar @

&t &1
Options :
1. % 30s 3R 50 s P 2 Ui 3HfUH &7 BT TR §
2. % 70s,50 s 3R 30 s W 3 N
3.¢70s R 1 W&
4. % DIs N ol

Question Number : 260 Question Id : 59445943383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Compound used as intercalating agent is
Options :

1. # SDS

2. % CsCl

3. % EDTA

4. ¥ EtBr

Question Number : 260 Question Id : 59445943383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
Correct Marks : 1 Wrong Marks : 0.25

3iafaeh e & wu A IugnT fbar S aren Al g
Options :

1. ¥ SDS

2. % CsCl

3. % EDTA

4. ¥ EtBr
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Question Number : 261 Question Id : 59445943384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

A protein has a sedimentation coefficient value of 3.12 x 10-!? sec in water. Its
diffusion coefficient in water is found to be 8.2x 107 cm?/sec. Both the above
values are for 20°C in water. The partial specific volume of protein is 0.735 and

density of water at 20°C = 0.998. The molecular weight of protein is

Options :

1. % 34800
2. % 16200
3. % 33700
4. % 32700

Question Number : 261 Question Id : 59445943384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

Ut F GET HT HIWIES AONF A 3.12 x 1077 sec FAT F1 I A gHHT AWIOT UM 8.2x 107 cm’/sec W
AT E| FHFT AT AT 9 A 20°C F o # fde # anfaw fBfdne smaeae 0.735 § My 9 # uee 20°C
= 0.998 g1 HE & AUTTas X gl

Options :

1. ¥ 34,800
2. % 16,200
3. % 33,700
4. % 32,700

Question Number : 262 Question Id : 59445943385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Lennard-Jones potential between pairs of non-bonded neutral atoms or molecules is given by
Options :

| v V(1) =4g[ (o)t (o/1)9]
) ® V)= 4g[ (o/T)H (o/1)f]

3% Y(O)= -4g[ (r/a)ii- (r/e)f]

4 = V(1) =-4g[ (1/0)*+ (r/0)f]

Question Number : 262 Question Id : 59445943385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR-SMTEfIT deR) TRATISHT AT U3 & TS F S ATS-ol- & FRUARIER]

Options :
| V() = 4e] (aln)'% (0/n)°]
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A

5w V(1) = 4g[ (o/r)+ (o/r)?]
s % V(1) = -4¢[ (r/0)'* (rlo)"]
4 % V(r) = -4 (r/o)™+ (r/0)°]

Question Number : 263 Question Id : 59445943386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is true for SC-2 clean procedure for initial cleaning of wafer IC fabrication?

Options :

1. ® The wafer is degreased using acetone, isopropyl alcohol and ultrapure water

2. %

The wafer is exposed to a 10:2:1 D/W:H,0,:NH4OH solution at 75°C followed by a UPW rinse

3. % The wafer is exposed to a 10:2:1 UPW:H,0,:NH4OH solution at 75°C followed by a UPW rinse

4. ® Nitrile gloves and Teflon tweezers are used to handle the wafer during treatment

Question Number : 263 Question Id : 59445943386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIT AT IHT IC Fiykera T Iif@F gwre & v SC-2 == 9T & BT a7 272

Options :

THIEIH, MBI dohigel AT FeSCAT TTAT T ITATT FIk JHBT T TdT ar g

IHT A 75°C 9T 10:2:1 D/W:H,0,:NH,OH e & e samer e amar ¢ 3k 39 o1

§ UPW el foRam =mar 2
2.
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IBT &I 75°C 9¥ 10:2:1 UPW:H,0,:NH,OH T & e somr f&ar =mar g 31t 38 =1

Google Play
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, % 3R % SIS I F A F T AR gFAe AR v RRS # s9aer fhar S g

Question Number : 264 Question Id : 59445943387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The instrument that makes use of the current due to electrons that tunnel between the surface and the tip is called
Options :

1. # Transmission electron microscopy

2. # Atomic force microscopy

3. " Scanning tunnelling microscopy

4. # Scanning electron microscopy

Question Number : 264 Question Id : 59445943387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

IE IUFRT S Yag 3R AR F ol &t e9d H SadeiHl & HRUT BT HT ST BT 6, PHET AT g
Options :

1. % U907 3aide i Y&erH

2. % RHMTIS g el o

3. ¢ 3 e YeHesf a3

4. % BT 3G YeraRl o

Question Number : 265 Question Id : 59445943388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TTRR ZHYH & oI HH I Y T 82

a) SR UHR I 9g%iid gl gahd g |
b) ST BT FHTTT THIY T2l & FHool T WA § AT AN 3Hu[afi & g dis RERfhar Ta! ¢ |

Options :
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1. % 2) 3R b) S IA &
2. % 3) 3R b) S A S

A

Google Play

3. % PIda2) A
4. ¥ adb)TA T

Question Number : 265 Question Id : 59445943388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which statement(s) stands true for Langmuir isotherm?

a) Adsorption can be monolayer or multilayer.
b) The probability of adsorption is independent of the occupation of neighbouring sites i.e. there is no interaction between adsorbed molecules.

Options :

1. # Both a) and b) are true
2. % Both a) and b) are false
3. # Only a) is true

4. % Only b) is true

Question Number : 266 Question Id : 59445943389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

X-ray diffraction utilises electrons of energy range
Options :

1. # 200-2000 eV

2. % >2000 eV

3.9 10-200 eV

4. % <10eV

Question Number : 266 Question Id : 59445943389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

XX faadH, St g & TAGC! BT SUINT HRAT ¢ |
Options :

1. # 200-2000 eV

2. % >2000 eV

3.9 10-200 eV
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4, % <10eV

A

Question Number : 267 Question Id : 59445943390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalysts functionalised with siloxane anchors can be attached to SiO; nano
particles via [Si]-O-M links involving surface silanol groups. This arrangement
benefits in

Options :

1. ¥ Achieving better catalytic yield

2. ¥ Relatively easy separability of catalyst

3. #¥ Enhancing reactivity of Nanoparticles

4. ® Decreasing the reactivity of a reaction

Question Number : 267 Question Id : 59445943390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
et TRt & A foramefiar 3ot & ddg faeere GHgl 8§ 3 [Si]-0-M fore & #mens ¥ Si0, ==r &ui &
SNET ST WehaT g1 I TIEAT H a#Tead adr 2

Options :

1. % JER IR IS YT BT

2. v JER® B SUETHd T Tl
3. % R0 B UfafhaTiiadr ST

4. % U 3HUfdhar o1 ufdfdariiaar gern

Question Number : 268 Question Id : 59445943391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Catalyst used for heterogenous electrolysis for water oxidation are
Options :

1. ¥ Nickel oxides

2. ® Platinum (finely divide)

3. # Siloxanes
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4. # Palladium complex

A

Google Play

Question Number : 268 Question Id : 59445943391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

O & SfaiianRur & fore fawd fagya sroee & fae ST fard o arel SaR® gl
Options :

1. ¢ fpd sfieTgs

2. % @ifeTq @i fausma)

3. % Ryl

4. % JATSTH Bl

Question Number : 269 Question Id : 59445943392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Shape selective catalysts are called
Options :

1. # Silanols

2. # Enzymes

3. ¥ Zeolites

4. % Colloids

Question Number : 269 Question Id : 59445943392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR TIAIHD IARD! DI HEI AT g
Options :

1. % e

2. % yfpug

3. ¢ fS3nage

4. % Bfcrdl

Question Number : 270 Question Id : 59445943393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Materials possessing both amorphous and polycrystalline behaviour with abrupt changes in crystal orientation acgoss individual grain boundaries in the extended
lattice are

Options :
1. ¥ Silicates
2. % Carbenes
3. # Glass
4. ¥ Ceramics

Question Number : 270 Question Id : 59445943393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

méﬁﬂﬁ&gﬂ-maﬁm@mﬁﬁm&fuﬁmmﬁm(muﬁaﬁq$muMaﬁvqﬁﬂmﬁﬁwﬁwﬁm
I

Options :

1. % f¥ferhe

2. % P

3. % B

4. ¢ HRIBIRI

Question Number : 271 Question Id : 59445943394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A ceramic having molecular formula Caio(POs)s(OH), is used for bone grafting.
It is stable in pH range of 5.5-7.2. Decomposition of this compound results in
Ca3(POs); which dissolves more rapidly in body fluid than the crystalline
compound. The ceramic compound is

Options :

1. # Calcium sulphate

2. % Alumina

3. % Zirconia

4. ¥ Hydroxyapatite

Question Number : 271 Question Id : 59445943394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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ey foRiour & e smuifes g Caqg(PO,)s(OH), aret JicdshIeeT &1 39AieT fFam s g1 98 5.5-7.2 & pH @&

H TTT g1 38 At & Faues 8 Cay(PO,), Wed 2T 8 =it foreeelar Aiffes $r goem A TR & 50 H A
e @ g AT @1 gieawfieT st gl

Options :

1. % Hicuy getbe
2. % UegEAT

3. % ORI

4. ¥ gISSIRIUUCTSC

Question Number : 272 Question Id : 59445943395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A common method used to grow a single crytsal where the non-solvent is layered on the top of crystallisation solvent is called
Options :

1. ¢ Vapour diffusion

2. # Interfacial method

3. # Sublimation

4. #® X-ray diffraction

Question Number : 272 Question Id : 59445943395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uohdl fShed &l I & oIt STIHTA bl ST dTel Ueh JTHT faf S8 fopeeciian=ur faaiae & e iR TR-f3ee WRd gidT &, HEAI T |
Options :

1. % 99 TR

2. % FBREYT fafy

3. % I g DI fopdm

4. % Teg - fagda

Question Number : 273 Question Id : 59445943396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HgS possesses a packing scheme.
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Options :
1. ¥ BCC

A

2. % Cubic centre
3. % FCC
4. ¥ Rhombohedral

Question Number : 273 Question Id : 59445943396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HgS & U9 ST @A B
Options :

1. ¥ BCC

2. % DS

3. ¥ FCC

4. % ARSI

Question Number : 274 Question Id : 59445943397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Density of HDPE is

Options :

| % 0.91-0.92 giom?

) 0.941-0.965 g/cm’
5 = 0.86-0.90g/cny

4 % > lglom’

Question Number : 274 Question Id : 59445943397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
HDPE &1 9@ g
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Options :

A

. 091092 alcme
1. L=

, » 0.941-0.965 g/cm’

, % 0.86-0.90g/cm’

4 % > lglem’

Question Number : 275 Question Id : 59445943398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modern materials formed from the hydrolysis of chlorosilanes in the presence of water is called
Options :

1. ¥ HDPE

2. ¥ LDPE

3. ¥ Polydimethylsiloxanes

4. % Carbosilanes

Question Number : 275 Question Id : 59445943398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

O Bt IUTRUfA A FARIRIC o ST fa<ersor & §94 arelt SMeyfAe Tl o HEl ST g |
Options :

1. ¥ HDPE

2. % LDPE

3. ¢ Ul SRgaidie

4. % PIARICH

Question Number : 276 Question Id : 59445943399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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The alkaloid found in Sarracenia flava, the yellow pitcher plant is
Options :

A

1. # Piperine
2. ¥ Coniine
3. # Nicotine
4. ® Quinine

Question Number : 276 Question Id : 59445943399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST Tt Uit R 1) & Uran S 91l Tehaies gl
Options :

1. % fuufe

2. B

3. % FpId

4. % P

Question Number : 277 Question Id : 59445943400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A preliminary confirmatory test that can be done for identification of flavonoids is
Options :

1. # Ferric chloride test

2. ¥ Sodium hydroxide test

3. % Silver mirror test

4. ® Conc. Sulphuric acid test

Question Number : 277 Question Id : 59445943400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR Yol tigur ol widHIsed &t UgdH & fod fosal o 9ehdl 6, 98 gl
Options :

1. % Bike RIRZS W&

2. ¢ ST BRSNS URIEUI

3. % R IR e
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4. % Fig YD 3T URI&01

A
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Question Number : 278 Question Id : 59445943401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ninhydrin is used as detecting agent for amino acid in chromatography because

Options :

1. ¥ It is unreactive towards amino acids

2. % Itis visible in UV light only

3. ¢ It form a purple color complex with amino acids which makes it easy to distinguish

4. % Tt is eluted at same time as that of amino acids and detected at same time

Question Number : 278 Question Id : 59445943401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

guiera o 3T et & fer FRTEfS &1 I Sifte wole & U o foar Srar § wifes
Options :

1. % Tg 3 3 & ufal sifepamefial B

2. % Yg Pad UV YHT # fowrd qarg

3.« Tg S 3 & 1Y ST T BT fH9or ST B Fd SR ST ST 81 ST 8

4. % g UH gl GHT H S 3t & TU H IeAToid (3HIC) B & AR U g T T Ul I STl §

Question Number : 279 Question Id : 59445943402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ionic solids are only soluble in

Options :

1. % Non-polar solvents

2. ¥ Extremely Polar solvents

3. ® Mix of non-polar and polar solvents

4. % Supercritical solvents

Question Number : 279 Question Id : 59445943402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
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3T 319 Haa b R RIS

Options :

A

1. % IR-ydrg faams

2. ¢ 3d YdIg faarasd

3. % TR-yd SR ydia faamaes &1 s
4. % 3ffaepifas faam®

Question Number : 280 Question Id : 59445943403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Conversion between polymorphs can be observed by
Options :

1. # Gravimetric analysis

2. # Tensiometer

3. ¢ Differential scanning calorimeter

4. ¥ NMR

Question Number : 280 Question Id : 59445943403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25
g3 $ S AR Bl R ST ST FehT 3|
Options :
1. % YRTAS fqawor (nfaafe® iR
2. % SRR
3. ¢ 3R Wi ISR
4. ¥ NMR

Teaching Methodology
Group Number : 15
Group Id : 594459971
Group Maximum Duration : 0
Group Minimum Duration : 180
Show Attended Group? : No

Edit Attended Group? : No
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Break time : 0
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Question Number : 281 Question Id : 59445943404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

Name the drive that results due to the hormones in both males (testosterone hormones) & females (estrogen hormones), in differing quantities of every species.

Options :

1. ® Social drive
2. # Hunger Drive
3. ® Thirst Drive
4.+ Sex drive

Question Number : 281 Question Id : 59445943404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical
Correct Marks : 1 Wrong Marks : 0.25

39 URUT (S1E9) HT ATH FATST S T3 (SLRRI BTHI) 3R Afgarsil (TeIeH gTH ) il H, U ToTlfd &1 S{eRT-3eRT HE H §THH & HRUT Sl o |

Options :
1. % FHIH IRUT (S139)
2. % A9 IR0 (759
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3. % OO R0 (S139)
4.« 9H-fopa1 IRUT (S1=9)

A

Google Play

Question Number : 282 Question Id : 59445943405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which type of attention we attend easily to the stimuli, without any effort?
Options :

1. #® Explicit attention

2. % Implicit attention

3. % Spontaneous attention

4. ® Voluntary attention

Question Number : 282 Question Id : 59445943405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

b GepR & e H, forTT ot v o & STl & SE1uH UR & & 62
Options :

1. % TR &

2. % WY 9

Question Number : 283 Question Id : 59445943406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the external factor of attention with which the speaker modulates his voice suddenly to attract the attention of his audience.
Options :

1. ¥ Movement

2. ¥ Change

3. # Contrast

4. ® Novelty

Question Number : 283 Question Id : 59445943406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
1 & I TI8) HRP BT A1 Id15U ORI T1Y IIaT 31U H131 BT S BN B & I 3eies 3= 3M1arel & Hafd HRarg|

Options :
1. % Tfd
2. ¢ UG
3. % e
4. % A

Question Number : 284 Question Id : 59445943407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
What can be further divided to idiolect?
Options :

1. % Sub-dialect

2. # Phonetics

3. # Syntax

4. # Schema

Question Number : 284 Question Id : 59445943407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

ETRER (3Mafgandae) o 3R fauiferd fsar s g g2
Options :

1. ¢ JU-arcit

2. % WA

3. % grefa=amg

4. % THHT

Question Number : 285 Question Id : 59445943408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a tool which makes the teaching-learning process interactive.
Options :
1. % Dialect
2. # Debate
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3. ¥ Questioning
4. ® Sub-dialect

A
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Question Number : 285 Question Id : 59445943408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
1Y © ol FRI&0r-SHfeRTH Ufehan &1 sic:fobarates STell 6 |
Options :
1. # IUHTNT
2. % qgre-faarg
3. ¥ Jdld
4. % JY St

Question Number : 286 Question Id : 59445943409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which language is essential for literacy learning, and successful use of language is critical for student's well being.
Options :

1. ® Standard Language

2. % Oral Language

3. # Home Language

4. % Written Language

Question Number : 286 Question Id : 59445943409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI I UTHT FTERAT YRGA & T MTa=aes §, 3R UTHT T T SUART ST &I HdTs & ot He@yul g |
Options :

1. # HH® HTHT

2. ¥ TIRIH YT

3. % HIq YN

4. % forRad yrwm

Question Number : 287 Question Id : 59445943410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
Which theory was built upon the three explangtory models -genetic-biological factors, shaping and reinforcement of sex-typed behaviour, and imitation of same-

A

sex parents or social learning?
Options :

1. % Androcentric theory

2. # Standpoint theory

3. # Intersectional theory

4. ¥ Functionalism

Question Number : 287 Question Id : 59445943410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o1 91 Rigid 9 areres Afsdl W STUTid oT - ARG -Sfd® HRE, fF-UGR & TGER B 3THR ST 3R Jeg HRAT, 3R JAMF-AT ard Arar-
fOar &) 9a a1 arfore fRrem

Options :

1. ¥ Tgifes @il

2. % WUl W}

3. % FREA AR

4. % raRHICRA

Question Number : 288 Question Id : 59445943411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the type of feminism that aims for individuals to use their own abilities and the democratic process to help women and men to become equal in the eyes of
the law and in society.

Options :

1. ¥ Marxist feminism
2. % Socialist feminism
3. #® Radical feminism
4. ¥ Liberal feminism

Question Number : 288 Question Id : 59445943411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

I YHR & ARIAIE BT ATH T3y fords] Yo Afaqal dF -t &iarsil &1 SUANT daT § 3R Adbditid Uishdr &1 Jaie § i Afgarsi 3fik goui
B BT 3R FHS DI FoR H FHH 99 § Heg HRAT g |
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Options :

1. % Hrhyard] IRidrg

A

2. % gHAIG! ARIaTG
3. % 3Hd ARIaG
4. ¥ JeRAE! ARG

Question Number : 289 Question Id : 59445943412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

feminists view gender inequalities as intrinsic to the capitalist system, which makes vast profits off women's unpaid labour in the home and underpaid
labour in the workforce.

Options :

1. % Radical

2. # Reforming
3. ¥ Socialist
4. ¥ Liberal

Question Number : 289 Question Id : 59445943412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRYaTE} e SIIHTdTSH &1 Goiare! SIawRiT & SHide ¥U &1 a8 ¢8d &, ol IR J Afearsil & 3ddf-d 4H 3R driad d & da- ard 91
T YR 1Y BA B

Options :

1. ® 31T

2. % JUR

3. ¢ GHISTAT]
4. % JGRAC

Question Number : 290 Question Id : 59445943413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I: A diagnostic assessment expands the findings of an assessment with analysis of abilities and potentials with a further dimension: the future
development of the concerned person, as well as the necessary conditions, time frame and limits.
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Statement II: Formative assessment provides fpedback and information during the instructional process, while leqrning is taking place, and while learning is
occurring.

Options :

1. ® Both statements are false
2. % Only Statement II is true
3. # Only Statement I is true

4. ¥ Both statements are true

Question Number : 290 Question Id : 59445943413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad fawedl & ufeu SiR SU! TaraT & Jae T SUged fddbed &I 98- Hiforg|

HYT 1: Th eI 3Mhel &AM 3R FHTGATSH & IZATU1 H 1 Teh 3R ATATH P 1Y b e & b BT AR Bl §: Yafdd ufad & Hiass
& faor, I1Y 8 Ty Taws Td, 9T T 3R AT

HY I1: AT T Qe Ulehar & SR, R 81 a9 B QR 3R SHATH g1 8T 81 98 TR 3R STHHRT UeH HRal 5|
Options :

1. % QF YT 3 §

2. HAA HYT 1T §

3. % HAAHYTI1IA §

4. % A HYTIIE

Question Number : 291 Question Id : 59445943414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

A learner's own perceptions or explanations for success or failure that determines the amount of effort will expend on that activity in the future. What is this
called?

Options :

1. # Self - regulation
2. % Self - assessment
3. # Self - efficacy

4. + Self-attribution

Question Number : 291 Question Id : 59445943414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical
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Correct Marks : 1 Wrong Marks : 0.25
T AT 3Bl & ford fRremelf &Y o eRomy a1 Tt st yfasy & 39 fafafy 1R fhw o arel TR &t A o) (uid Hdr 81 39 1 el

STl 82

Options :

1. % W-fgu

2. % 3{TH 3HThed

3. % SH-UUIIDHTRAT
4. ¢ TH-JURIY

Question Number : 292 Question Id : 59445943415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which of the following method the same tool or instrument is administered to the same sample on two different occasions?
Options :

1. ¥ Test-Retest method

2. % Equivalent-forms method

3. # Split-Half method

4. # Kuder-Richardson Method

Question Number : 292 Question Id : 59445943415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofared & 9 forw faftr & U & 1ed a1 33 &1 U 6t A9 § &1 SIa-S1aT SaR! UR URIIRId 31 ST 62
Options :

1. ¢ TRIGT-g:uRie fafe

2. % gOJd-&y fafy

3. % fquaand fafy

4. % pR-RaSH fafdr

Question Number : 293 Question Id : 59445943416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Read the following options and select the appropriate option regarding its truthfulness.

Statement I: Three important aspects of Universalisation of Elementary Education are access, enrolment and retention of all children in 6-14 years of age.
Statement II: Sarva Shiksha Abhiyan provides up to Rs.1200/- per child for integration of disabled children, as per specific proposals, per year.
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Options :

A

1. ¥ Both statements are false

Google Play

2. ¥ Both statements are true
3. % Only Statement I is true
4. # Only Statement II is true

Question Number : 293 Question Id : 59445943416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefed fawedl & ufeu SiR ST Tarar & Jaie H Iuged faded &1 7o Hiforg|

FHYTL: 6-14 9 o1 1g & Tt 52 URMAes R & T iz & 9 Heayul Ugd | Ugd, AHids- 3R UfaeRoT|

HYT 11: T4 e S faRmy varal & AR, Ufd a9 fadw i sl & ThIhRul & [ad Ufd &= 1200/- $UY 9 U Bl g
Options :

1. % G HYF A &

2. ¢ QA HYT I §

3. % HAdPYTI1IA §

4. % FAADYTNII B

Question Number : 294 Question Id : 59445943417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

The key objective of Sarva Shiksha Abhiyan is UEE. What does UEE stands for?
Options :

1. # Unitary Elementary Education

2. % Universalisation of Easy Education

3. ¥ Universalisation of Elementary Education

4. # Union of Elementary Education

Question Number : 294 Question Id : 59445943417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
T e ST &1 g eI UEE § | UEE &1 gU U &1 82
Options :

1. % gFed TeHd TgehRH
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2. % gRaAZSIT 3t o TIHRH
3. JHIHAROIRH 3k TdiHcl TSH e

A

Google Play

4. % GG TP TCAHCT Th =

Question Number : 295 Question Id : 59445943418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year the Government launched the Integrated Education for Disabled Children (IEDC) scheme?
Options :

1. % 1978

2. % 1972

3. % 1984

4.+ 1974

Question Number : 295 Question Id : 59445943418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o oy AR 7 fawan a=it & Ay THigd e IoH1 & S
Options :

1. % 1978

2. % 1972

3. % 1984

4.4 1974

Question Number : 296 Question Id : 59445943419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which stage an infant appears to be experimenting with uttering articulate sounds but does not produce any recognisable words?
Options :

1. ¥ Babbling

2. % Mutter

3. % Gabble

4. # Fluency

Question Number : 296 Question Id : 59445943419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
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Vertical
Correct Marks : 1 Wrong Marks : 0.25

A

Google Play

fory e o fRIY] TP @l & IR & WY YA Sl g3 Ul Il § Afch I3 UgdT - I TMeg -Ta] a-1dl 82
Options :

1. ¢ SSTSH

2. % TR

3. % YAYAM

4. % Yaig

Question Number : 297 Question Id : 59445943420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

What involves change in physical proportions as well as in overall stature and weight?
Options :

1. # Development

2. ¥ Growth

3. # Hereditary

4. # Maturation

Question Number : 297 Question Id : 59445943420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

o ¥ ¥iifdies FHIUI & WY1 W B3 SR HR H TRac e 82
Options :

1. % far

2. ¥ gfS

3. % 3difRID

4. % URUST

Question Number : 298 Question Id : 59445943421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who's theory of development considers the impact of external factors, parents and society on personality development from childhood to adulthood?
Options :

1. ¥ Burrhus Frederic Skinner
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2. # Sigmund Freud
3. ® Jean Piaget

A

4. % FEric Erikson

Question Number : 298 Question Id : 59445943421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25

g &1 fapr Rigid ITeaRIT ¥ TG AT db Afddd fIbT IR 91831 HRb!, HIaI-fdT 3NR FHTS P UHTG BT JIFT 82
Options :

1. % §8 hed "R

2. % s wrae

3. % Hiaml

4.« TR TRHIA

Question Number : 299 Question Id : 59445943422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
is an imitation of the real world experience.
Options :
1. # Facilitation
2. # Role Play
3. ¢ Simulation
4. % Mantle of the Expert

Question Number : 299 Question Id : 59445943422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :
Vertical

Correct Marks : 1 Wrong Marks : 0.25
rafde gfaT & 3Ha &1 9o d g
Options :
1. % Bfdferess
2. % AA W
3. ¢ RqgarH
4. % TTd 31 G TRIUC
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Question Number : 300 Question Id : 59445

Vertical

GET iT ON

Google Play

A

043423 Question Type : MCQ Option Shuffling : Yes Is Questign Mandatory : No Option Orientation :

Correct Marks : 1 Wrong Marks :

0.25

Which approach to drama is generally preferred by a teacher initiating drama into the classroom for the first time?

Options :

1. ® Non-linear approach

2. % Holistic drama

3. # Close ended drama

4. ¥ Linear approach

Question Number : 300 Question Id : 59445943423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option Orientation :

Vertical

Correct Marks : 1 Wrong Marks : 0.25

e & o S A1 AT STHIR TR R1&ie GRT GHEIET § ol H&Ne H Ugdl aR Alcd HRd 8?2

Options :

1. % FH-IR ST
2. % gifded M

3. % gl (S8 gl
4.« AR T
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